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2. Microeconomics primarily focuses on :
(1) The behavior of individual firms and industries
) The overall performance of the economy
(3) Government policies and regulations
(4) International trade and finance
&wwsmg@mamw%mm% ?
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3. Cardinal utility analysis suggests that :
(1) Utility can be measured and quantified numerically
(2) Utility is subjective and cannot be measured objectively
(3) Utility is determined solely by a consumer's income level
(4) Utility is not relevant in understanding consumer behavior
FET Iudfiar fygagoer § gor gaar & fh e
() SHATET oy wearers @y § A1 ofK aRERR R o e @
(2) SoAfren aftpoees & ofw g@ oy @y & wEt wOT ST Heh §
(3) ST Faer gwde & oma &€ & FeiRa ad ¥

2 T SR 2B e # IuAfer g qEt '

PG-EE- ‘
EE June,_ 2023/(Economics)(SET-X)/(A) o BT,




A

If marginal utility of money is diminishing instead of constant the amount of consumer

surplus will :
(2) Decrease

(4) Cannot be predicted

(1) Increase

(3) Remain same
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Consumer equilibrium occurs, when :

(l) Marginal utility is negative for all goods consumed

(2) Total utility is maximized given the consumer's budget constraint
(3) Marginal utility is equal for all goods consumed

(4) Total utility is equal to zero '
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. Marginal rate of substitution of two perfect substitute goods will be :

(1) Diminishing

(2) Increasing

(3) Constant

(4) Initially increasing and later decreasing

& gof erATTeT awgelt & SftRATa @ i W
(1) A et

/




7. The budget line represents :

(1) All possible combinations of goods a consumer can afford given their income and
the prices of the goods

(2) The trade-offs a consumer makes between leisure and work
(3) The relationship between price and quantity supplied for a specific goods
(4) The total income a consumer has after purchasing all desired goods and services
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8. Movements along the supply curve occur due to changes in :
(1) Preferences of consumers (2) Consumer's income and tastes
(3) Price of the goods being supplied  (4) Government policies
gkt @sh OX Heuee 1 & aRads & @rer e @
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9. External economies of scale refer to :
(1) Cost savings from the growth and expansion of an individual firm
| (2) Cost savings from the availability of cheap raw materials
| (3) Cost savings from technological advancements in the production process
(4) Cost savings from the cooperation and coordination among firms in an industry
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10. The law of variable proportions shows :

(1) Long run production function (2) Short run production function
(3) Short run cost function (4) Long run cost function
afteedi srgurt & fFrEm gefar @ ¢ 7
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nue is the change 1 -

Marginal reve
(1) Total revenuc resulting from a on |
esulting from a one-unit change in sales

(2) Total revenue T ' '
(3) Average revenue resulting from a one-unit change in output
(4) Total cost resulting from a one-unit change in output
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e-unit change in cost

Long-period costs are those costs that :

(1) Can be adjusted in the long run to adapt to changes in production levels
(2) Remain fixed regardless of changes in production levels

(3) Are incurred only in the short run

(4) Are not relevant to the analysis of production costs

(2) S &R H aRad B uRErE B R Re e
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Break-even point occurs, when :

(1) Total revenue equals total cost

(2) Total revenue outstrips total cost
(3) Total cost surpasses total revenue
(4) The firm is operating at a loss
gA-fgede fig a9 €ar &, 59
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14. The modern theory of costs emphasizes the importance of :
(1) Technological advancements in reducing production costs
(2) Government regulations on cost management
(3) Reserve capacity
(4) Social and environmental costs
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In the short run, a monopoly firm maximizes its profit by producmg at the level,
where :

(1) Marginal cost equals marginal revenue
(2) Average total cost is at its minimum point
(3) Price equals marginal cost

(4) Price exceeds average total cost

TR H, @@Wqﬁwwvmmmmzﬁrm
FHIAT B, STET ¢

(I)Wﬁwmﬁw%wéﬁ%
(2) ShrEd P A I FAaH fig X B
(3) Fa EHid AFIT P FUET BN 8

(4) iFa T F A § SfEE ®

Which model gives stable solution ?
(1) Cournot's model

(2) Bertrand's model

(3) Both

(4) NODE i




Price rigidity in oligopoly refers to :
(1) The inability of firms to change their prices frequently

(2) The fixed prices set by the government

(3) The collusion among businesses to keep prices at a constant level
(4) The price refinement practices in oligopolistic markets -
STRHR # oI FHolkar & arad @

(1) B 2 oh B @ AR Sae f argEdar
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The Coase theorem suggests that :

(1) Market participants can negotiate and reach efficient outcomes in the presence of
externalities

(2) Government interference is always necessary to address market failures

(3) Monopolies are inherently efficient but still should be abolished

(4) Transaction costs are the primary cause of market failures

HE JHT § a1 T & F

(l)wmmmaﬁ%ma@mﬁaﬁwﬁaﬁﬁ@m
giemHl d% 9gd T &

(2)g%a‘a’r ﬁmﬁﬁgm%mmm%q SHSM AT

(3) THIHR @WHfas &9 q FHIA & b B ot 38 a9 & Raw s

(4) -39 FH ARG G T fameansdt @1 wetHe HReT ©

- The modern theory of rent suggests that rent is determined by :
(1) The scarcity of a factor in relation to its demand

(2) The negotiating power of factor owners

(3) The price elasticity of demand for the land

(4) The government's land-use policies
W‘B’Wﬂﬁ%mﬁm%%wﬁﬁﬁﬁm%
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Theories of interest include :

(1) Classical theory and Keynesian theory

(2) Loanable funds theory and liquidity preference theory
(3) Fisher's theory and Marxian theory

(4) Nominal interest and real interest theory

oo & fyeiar § enfae &
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If' EVERYTHING' is coded as 'GHENGRIVET, then how will you code "TREE' ?

(1) RGNE (2) ENGR (3) NEGR (4) RNGE

aft 'EVERYTHING' & 'GHENGRIVET' & w7 ¥ fifeq fepar strar 2, & oy
'TREE' &I 38 Hs HJ ?

(1) RGNE (2) ENGR - (3) NEGR (4) RNGE

In a given number 7943325913, we interchange the first and the second digits, the third
and the fourth digit and so on. Then which digit will be sixth from the right ?

1) 2 2) 3 B)4 v ) 9
@ﬁﬂéﬁ@r7943325913ﬁ@%ﬁaﬁ?@maﬁmﬁwﬁé
e ST A 31 IR T e S| @ DA ik I F F wer A 2

1 2 () 3 (3) 4 | “ 9

If'BORROW" is coded as 589134, then how will you code 'BROW ?

(1) 5934 (2) 5493 - (3) 4395 (4) 4935

1= 'BORROW' #r 589134 % @7 & Hifed fhar o B, &Y oM BROW'
39 Fifeq Hay ? ' .

(1) 5934 (2) 5493 (3) 4395 (4) 4935

I'DSNI9E' stands for 'DENSE and 'D1F20' stands for 'DAFT!, then how will you code
DECENT" 7 . | iR ‘
(1) DCSN20s  * (2) D20CSN5  (3) DSCSN20.
A DSNISE' a1 ayef 'DENSE! offw 'DIF20 @ o7
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Choose the pair in which the words are differently related :
(1) MUSIC : ART (2) PEPPER : SALT
(3) FROWN : SMILE (4) MAN : CROWD
a8 g™ ga ad e i wer @ defug §

(1) E0a : (2) erell ford o sHen
(3) SE =FT & EHT (4) sy : ofig

Choose the group of letters that is different from others :

(1) MLK (2) KIJI : (3) RQP (4) TSR
SRl 1 98 e g S oty Ry & '

(1) MLK (2) KII (3) RQP (4) TSR

Find the value of Question Mark (?) :

999 R=IEs (2) &1 99 9qrsy -
S Bt | R

(1) 46 (2)‘ 78 (3) 42 S

A and B are brothers. C and D are sisters. A's son is D's brother. How is B related to C ?
(1) Uncle (2) Grandfather

(3) Father (4) None of the above
AaﬁrBﬂé%ncaﬂTDa@%lAaﬂgeraﬂﬂé%nB C § 8 9

(2) ST
(4) SUUT H § HIg A€

Paras walked 30 m towards east, took a left turn, and walked 20 m. He took a right turn
and walked 30 m. Then, he took right turn and stopped. He is now facing ?

(1) North (2) East (3) South (4) West

oed gd # AR 30 HeX =, §1d ger ol 20 HieX =« a8 T ger AR
30 Hrex =@ | oy, aaaﬁgasﬁ?wwnaeeww%?

(1) s=% 2w (3) =faror (4) qigew

.\ The prnce of a commodity mcreqses first by 30% and then decrease by 20%. What is
the net increase in the price ?

(1) 14% (2) 10%

(3) 4% (4) None of the above
fepeil aeg &1 #md ged 30% gl § SR Y 2
gfes &1 % ? s e e |
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What should be the missing value 450, 42, ....... , 26,18, 10,2 9

(1) 34 (2) 32 (3) 30 (4) 35
450, 42, v 26,18, 10,2 & gt w1 @1 =nfey ?

(1) 34 (2) 32 (3) 30 (4) 35
What should be the missing value 840, 168, 42, 14, ........ 2 By,

(D9 (2) 7 3) 6 (4) 10
840, 168, 42, 14, ........ 8 g 99 i =R ?

(19 (2) 7 (3) 6 . 4) 10
What should come in the series of A, E, I, P, .............. ? :

) Y QW B)V 4) S
AED PSS ol B G H R STAT AR ?

MY ) W B)V 4) S
Fill the missing value in the series ZKC, YLD, ........... WNF, VOG.

(1) XME (2) EMX (3) MEX (4) XEM
ZKC, YLD, ............ WNF, VOG &l # < #F X |

(1) XME (2) EMX (3) MEX (4) XEM

If "+" means "/", "*" means "-", "/" means "+", and "-" means "*", theh 16/8*6 -2+12=7
(1) 23 (2) 24 (3) 7 15% (4) 18

qﬁ "M BT G:Ri u/n Lo Gq'?i "n_ n VIR - a:l-?j- n+" aﬁ-{- LI m MmN %} (_ﬁ
16/8*6 -2+ 12 =2 -

(1) 23 : (2) 24 (317 4) 18

A man covers 40 km in 2% hours. Find the distance covered in 10 hours :
(1) 150 km (2) 140 km (3) 160 km (4) 120 km
U Al 2, 62 40 fEd aF eer B 10 62w @ i g s Al
(D) 150 (2) 140 el (3) 160%»141 (4 120

X's income is 80% of Y's. Y's income ls 60% f Z : s income.
then what is X's income ? T

(1) Rs. 48,000
X &
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his old bike and earned a profit of 20%. If he could have managed to sel] it

t sold
38. Ift:;hlli SS 10,000 more, then his profit would have been be 40%. Find the price at which

he bought the bike ?

(1) Rs. 50,000 (2) Rs. 40,000 (3) Rs. 45,000 (4) Rs. 55,000

w%mmmaﬁmz()%mmmuma@sﬁlo,oooso
SR § X9 O, N IadHT T 40% BT g8 @ st Y B g7 3

g5 @aa A 7
(1) 50,0000 (2) 40,000 &0 (3) 45,000 o (4) 55,000 o

. A man took a loan from a bank at the rate of 10% p.a. simple interest. After two years,
he had to pay Rs. 2,500 interest only for the period. The principal amount borrowed by

him was :

(1) Rs. 10,500 (2) Rs. 11,000 (3) Rs. 12,500 (4) Rs. 13,000

o FEH Y T T q GIERT &A™ 94X 10% g7 a¥ @ ax § kv o) @
aﬁaﬁaﬁwaﬁﬁ%m%aﬁrzsoosomqualmgm
SYR & TS g AR A

(1) 10,5000 (2) 11,0000  (3) 12,500 o  (4) 13,000 Fo

. The average monthly income of A and B is Rs. 4, 000 The avefage monthly income of
B and C is Rs. 7,250 and the average monthly income of A and C is Rs. 5,200. The

monthly income of A is :

(1) Rs. 1,950 (2) Rs. 1850 (3) Rs. 1,750  (4) Rs. 2,150

A 3% B @ olEa T ST 4,000 o T B 3R C @ Nua w@ifks IF
7250 To & 3T A X C & 3Na Aifs o1 5,200 Fo B 1 A HI Hii¥H IH
2 ' £
(1) 1,950 Bo 2) 1,850 5o 3) 1,750 $o (4) 2.150 50

- Underdeveloped Countries are characterized by :
(1) High income levels and cutting-edge infrastructure

(2) High levels of foreign investment and trade
(3) Balanced economic development and equal income dlstnbutlon

(4) Low income levels and limited mdustn




Economic development involves :

(1) The increase in per capita income only

(2) The improvement in social indicators and well-being
(3) The creation of democratic institutions

(4) The embracing of free trade policies

i g & enfae R ¢

(1) daw iy =fe o & gig

(2) SIS Fehaeh! 3R WaE # g

(3) Srepite deredt S ot

(4) 5 IR ARE] B ST

The vicious circle of poverty refers to :

(1) The spread of poverty due to low educational levels

(2) The intergenerational diffusion of poverty

(3) The cycle of low income leading to low savings and investment
(4) The lack of access to credit and financial services for the poor
T Bl gk HERd BT § ’
(l)ﬁwmw%wm%waﬁ

(2) TS & JHASTIET TEX B

(3) FH 3T &I =HH HH Tod AR [T H AR A TH @
(4) TS & R ®T SR [T fenett 9 ugd @ HH d

Structural transformation mainiy refers to :

(l) The shift from agriculture to industry as the only main driver of economic growth
(2) The process of urbanization

(3) The diversification of the economy and th§ de‘ opme

Ty ”
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45. The poverty trap refers 1o :

47.

(1) The inability of the poor to escape poverty due to limited opportunities
(2) The cyclical nature of poverty in developed countries
(3) The concentration of wealth in the hands of a few individuals

(4) The effect of inflation on the purchasing power of the poor
T ST @ aad @

(1) Dy eEEt B HROT A @ TR § FEA F rEHed
() R 390 F THR B T R

(3) FB ARPAT B BAT H 47 B/ B0l

(4) TOST @ T ARP G FREDIT B TA

Balanced growth theory suggests that economic development should focus on :

(1) Focusing resources in a few sectors only

(2) Diversifying the economy across multiple sectors simultaneously

(3) Prioritizing agriculture over industrial development

(4) Relying on FDI for economic growth

ggfea gfs fasia gamn & & oiie faseg & B9 X & aftsd &
lied :

(1) GEra=t Pl Had HB &5 F HiKd BHIAT

'(2)Qaawao—éasﬁﬁaweiwawwﬁﬁaﬂw'

(3) STEfe e U H @ ST a4
(4) e faepra & forg Twsiens ux MR <&

As per the Lewis' model, the "informal sector" refers to:

(1) Industries which are not regulated by the government
(2) The rural activities -

(3) Small-scale enterprises and self-employment -
(4) Techm)loglcally advanced industries thh hlgh capltal intensxty: .
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(he critical minimum oo required (o ;

sihenstein, -

48. According 10 Le
development :

(1) Varies acro ctors and countries
ari

2) Canbe achieved through foreign (inancinl nssistance only
: s of government intervention

(3) Requires high leve
€)) Depends on the disposal of natural resources and raw materialy

onfefes R @ (Y SUARTED e e e

gs different s¢

The concept of "strategic sectors" in unbalanced growth theory refers to :

(1) Sectors that have a comparative advantage in international trade

(2) Industries crucial for national security and defense

(3) Sectors with high potential for technological innovation

(4) The prioritization of speciﬁc sectors for government support and investment
WWW#WH#WWWW%
(1) TF & P Siadsia AR § Ao a9 §

(2) s geen S <@ & Rig ST geEeel ¥

(3) A TAER B R e e AR A

(4) T FerEar X Faw & fag fafarse &= & araiHend

. According to the critical minimum effort thesis, economic development requires :
(1) Investment in physical capital and infrastructure
(2) Adequate levels of government expendlture and pubh s"’
(3) Efforts to improve human capltal and ed tion 3

(i Bl

(4) All of the above ot
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51.

53.

ment is considered a luxury, because :

duals can affor
ation requires significant financial investments

Environ .
(1) Only affluent indivi

) Environmental presery .
degradation is mainly associated with poverty

3) Environmental .
more prevalent in developed countries

4) Environmental issues arc

qmﬁaammm%,mﬁﬁa:

Wﬁﬁﬁuﬁ%ﬂﬁmmwaﬁ%-

(3)WW§@W@W@I§@%
(4)ma%sﬁﬁqa1a'{vﬁag%am;ﬁﬁm%

The population-environment linkage mainly refers to :

(1) The impact of population growth on environmental degradation

(2) The interaction between human populations and the natural environment
(3) The role of environmental policies in controlling population growth :
(4) The relationship between population density and economic development
SFEE-qaTaReT S8 ged ®9 § € & ® :

(1) TEETOT SROT UX SEEAT g BT g .

(2) FFE ST 3N g aTaEReT S S g Rt

(3) seEEAr ghs @ FrRita & § qafaxer ARt # g

(4) sEE g9 X o faere & = Hee

Features of the environment as a public goods include :
(1) Rivalry and excludability

(2) Non-rivalry and non-excludability

(3) Rivalry and non-excludability
(4) Non-rivalry and excludability

b R e
£ Al

ML R BT
2 . & ‘-‘,u". Elf .

d to enjoy nature and environmental amenities

eﬁrqamvﬁagﬁmaﬂasrmammﬁg
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54. The components of the environment include :
(1) Natural resources, ecosystems and biodiversity
(2) Infrastructure, population, technology and capital
(3) Education and healthcare
(4) Government policies and regulations
qafaRer & "ot # enfie B
(1) srpfres dares, aiRRefdes o= ofe Sy Bferedr
(2) STRNA XA, SteeEr, Wenfeh e goft
(3) R iR Wred |dl
(4) TR @ AifeEr o) e

Environmental economics addresses the issue of externalities, which refers to :

(1) The positive special effects of economic activities on the environment

(2) The unintended costs or benefits imposed on third parties by economic activities
(3) The thoughtful actions of individuals to protect the environment

(4) The impact of population growth on environmental resources

qgfacolia oTefees STl @ gl dfd Hear 8, S Had Bl €
(1) gafaxer gx ofifdfes wfcfafet & Seiets A9y g9

(2) oTf¥fep TfafafeEt a=r S 98 9x g 19 T-9fed AR I1 s

(3) TATERET & M & g FRRAl & ferEmeie wE

(4) g HEEAT 9X STEEAT gl 1 TH9E

. Environmental valuation techniques are used to :
(1) Assign a monetary value to environmental goods and services
(2) Measure the social importance of the environment
(3) Measure the cultural importance of the environment
(4) Predict future environmental trends and challenges
qAfaoE Heih deheieht T TN AT ST ©

(1) waETeia awgel ofiv darett & fe oh Afes g fids w3 §
(2) wEiEeT & ARG qe@ @) qoT A

(3)“@3‘“‘%“@%%2&#@#
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57. Environmental legislations in India include :
(1) The Water (Prevention and Control of Pollution) Act
(2) The Air (Prevention and Control of Pollution) Act
(3) The Environment Protection Act

4) All of the above

ag § qafeRer &g § enfre @
(1)W(Wﬁwaﬁﬁﬁﬂw)m

Sustainable development requires the integration of :

(1) Economic development, social equity and environmental protection
(2) Technological progresses and innovation ‘
(3) Global cooperation | | .
(4) All of the above
Toa EE & R e ® TEieher H Saeshal € ¢

(1) TR foepre, QIS FHMAT S THEReT HEETOT

-~ (2) BT ST AR FAER

(3) afzas F&drT
(4) I9d<p |

Environmental impact assessments are conducted to :

(1) Evaluate the potential environmental consequences of proposed development
projects ‘ . o :

(2) Evaluate the ecological value of protected a ' ‘

(3) Monitor pollution n

s
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61.

62.

The causes of environmental pollution include :
(1) Emission of pollutants from factories and vehicles
(2) Improper waste disposal

3) Agricultural activities involving use of pesticides
(4) All of the above

qofaeT SEueT & HRen A enfie € ¢

(1) FR@E! 3R el A wguept H1 oot

@) sgfea efdre Mdem

(3) PR B ITAT § TSI P nferfafert
(4) SIAH T

The Economic Survey of India is prepared by :
(1) The Ministry of Finance
(2) The Reserve Bank of India

(3) The Planning Commission (now replaced by NITI Aayog)

(4) All of the above

Wasramﬁaﬁﬂﬁmm%m%zrr{ﬁww%?

(1) fog #3"

(2) s a6
(3)mm(m=ﬂﬁrwgﬂrqﬁw®ﬁ)
(4) 9 Gl

The Indian economy has witnessed a shift from :
(1) Agriculture to industry and services
(2) Import substitution to export-oriented growth

(3) Command economy to market-oriented reforms

(4) Al of the above i
L '-,?Lf'(%mvr.i‘,‘.
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63. The rol

(1) Provi
) Provision O
(3) Promoting equi
4) All of the above
s oreferaen § HES D s wftrer H anfee #
(1) oK vt B Rrq gl af=n Sard ST
Q) IR-3TaT® Jaratt 1 ST
(3) = fqad A G el i TSl Cnll

@) STs el

e of the public sector in the Indian economy includes :

ding Infrastructure for rich people
f non-essential services
table growth and social welfare

Economic reforms in India have focused on :

(1) Liberalization, privatization and globalization

(2) Promoting foreign interference

(3) Enhancing in efficiency

(4) None of the above
Wﬁ,mﬁ%gﬂﬁﬁﬁrﬂwwﬁ%ﬁaﬁmw%:
(1) SarieseT, i SfT AT |

(2) fshi ew@T & g S

(3) Tzl # gf= 5

(4) 39A<H 7 | HIg A

. Economic planning in India was characterized by :
(1) Five-year plans (2) Centralized taxation
(3) Wastage of resources : (4) All of the above
qrg #§ et fFEsE & Qe o - ' '
(1) doaffa Ao - (2) Fepa FUEA
(3) dareEt # FEE (4) ST @l

. The Gini coefficient is a measu e

et

(3) Literacy rat
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67. The concept of the "Population Pyramid" is used to study :

(1) Age-sex composition of the population
(2) Fertility and mortality rates
(3) Migration patterns
(4) All of the above
EEE RS @ st @y s & srerga @ R A ot © -
(1) STEE & Sg-fir degan
(2) ST & R T &%
(3) yarET Y
(4) SWw gh

. The concept of "Human Development Index (HDI)" takes into account indicators such
as:

(1) Life expectancy (2) Education attainment

(3) Per capita income (4) All of the above

‘A [9FE gasis (HDI)” & sauren e S d9qet & o et © -
(1) S s . () REm aia

@) sfa arks e - (4) SRH G

The Deendayal Antyodaya Yojana-National Urban Livelihoods Mission (DAY-
NULM) aims to alleviate poverty by focusing on : ‘

(1) Rural employment generation

(2) Skill development in urban areas

(3) Housing for the homeless

(4) Women empowerment in rural areas
mmmwmmﬁm (@WW)W
@mﬁﬂﬂi@aww%&ﬁmmﬁmm?' A

M-‘(w,‘é_‘v '.vj».,‘w'." g e

(2)maﬁrﬁ e r:v
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71.

72.

L 0i70. The Pradhan M

antri Mudra Yojana (PMMY) provides financial assistance to :
(1) Micro, small and medium enterprises (MSMESs) ]
(2) Farmers for agricultural development

3) Students for higher education
(4) Individuals for affordable housing
W@W(PMMY)WQ?IWWWW%:

(1) W,@a@?qmm(@m@é)
) F R & e Har

(3) S=3 fmn & foQ 8=
(ﬂ%mﬁemawr%fmaqﬁé'

The National Rural Livelihoods Mission (NRLM) was launched in which year ?

(1) 2005 (2) 2009 .
(3) 2013 (4) 2016
S T STRfeee e (TReTCeeH) B 9 g fepar AT o1 ?
(1) 2005 2) 2009 ‘
(3) 2013 (@) 2016

The Mahatma Gandhi National Rural Emplo »
. 1 3
implemented in which year ? : mployment Guarante,e Act (MGNREGA) was

(1) 2005 4 . (2) 2008

(3) 2010 (4) 2012
s Ao MRS eAfafrEE (Aeem) fee ad @r R T
(1) 2005 : : ‘ (2) 2008
(3) 2010 (4) T

(3) 2014
aa ,‘k» .,’i':: | :
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| 74. The Rashtriya Swasthya Bima Yojana (RSBY) provides health insurance coverage:to :
(1) Rural households below the poverty line
(2) Urban unemployed individuals
(3) Government employees

~ (4) Self-employed professionals
@aweﬂmm(mm)ﬁmaﬁwwaﬁm_mmm%:
(1) T Y @ N B aefor oRar | ‘
(2) el RSFR ARD
(3) TXHN HHA
(4) @-FAa URER

75. Recent trends in agricultural development in India show a deceleration in :

(1) Crop»yield'per hectare (2) Agricultural exports
(3) Millet prdduction (4) Irrigated land area
s & PR Rra e gkl 3 @ R A @
(1) gfy 2RaX HEw B 3T @) P FEfa
(3) T IATEHA _ (4) Ffaa 9fi &= —

76. In recent years, the government has introduced schemes such as :
(1) Pradhan Mantri Fasal Bima Yojana (PMFBY) '
(2) Pradhan Mantri Kisan Samman Nidhi (PM- KISAN)
(3) Rashtriya Krishi Vlkas Yojana (RKVY)
(4) All of the above '
Ble & auf ff HTHT % ﬁ“‘f ’H{“*-zf“‘?"-“ e

| (1) gm By
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The concept of "Inclusive Development” emphasizes :
cing regional disparities in development

ble access to foreign trips

77.
(1) Redu

2) Ensuring equita
(3) Promoting entertainment

(4) None of the above
‘mﬁﬁm’ﬁmmﬁﬁwwﬁ%:
(1) frg 7 &= argaEarett @ & BT

() Ry aEett & Rrg @ agd gRAET ST
(3) FARSE P gl AT

(4) ST F |/ Hg e

According to the Periodic Labour Force Survey (PLFS) 2019-20, the unemployment

rate in India was approximately closer to :

(1) 3% (2) 5% (3)17% (4) 9%
At s @ aderor (deeasaE) 2019-20 & STEET, qRg F SRSEI &7
SHEMECTIEIDIEE

(1) 3% (2) 5% - (3) ™% 4) 9%

78.

79. The Stand-Up India scheme promotes entrepreneurship among :
(1) Scheduled Castes (SCs) and Scheduled Tribes (STs)
(2) Women entrepreneurs
(3) Minority communities
(4) All of the above
Se_aq AT Ao STHMAAT B FEET ol €

(1) s R (wad) o sl S ()

(2) Afear ITHT
(3) SIqEETISh T
(4) I9AH Gl
80. The concept of sustainable agriculture emphasizes :
(1) Modern farming practices (2) Exploitation of natural resources
(3) Diversification of crops | (4) None of the above
gl Y &1 srgaren Ry 9Y &« A 8 7
(1) smgfers Y gafear (2) WThfees GETE] 1 QB

() et @ R LOSTR §
 PG-EE-June, 2023/(Economics)(SET-X)/(A) |




A

81.

82.

Real income is :
(1) The total income earned by a household in a specific period

(2) The income adjusted for inflation to reflect changes in purchasing power
(3) The income after deducting taxes and other deductions

(4) The income derived from investments and financial assets

s o ® ¢

(1) T R smafy & b aRar iy et o o
(Z)WQﬁﬁmﬁ@ﬁ%mW%mm@ﬁam
(3) B IR oty FARGT H FeA B qX A A

@) PRy ) R d@afr & o e

Limitations of the GDP concept include all except :

(D Exclusion of non-market production

(2) Failure to account for income distribution among different groups
(3) Neglecting environmental and social costs

(4) Income of households and firms

meﬁmaﬁ@mﬁﬁﬁw%mwm%

(1) TSR IARA B SE=HT

(2) fafr= qugt & S o Rawer 3 e @R # fse
(3) gatazer X G AR bl SURT HA :
(4) =37 3R HA H AT

The expenditure approach to measuring national income focuses on :
(1) Summing up the value-added at each stage of production

(2) Adding up all the spending by households, ﬁrms government and net exports
(3) Calculating the total income earned by individuals

(4) Estimating the value of all final goods and services produced in the economy
T oF AT & g o gfehr fBhE a¥ #fd § ?
(1)W%mwﬁ®%m1@mm'

(2) 9ftardl, w7, grER & 99 aﬁ? Eﬁ‘f vhw

(3) aAFEEr gra eﬁa ST T

* GMW
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84.

The marginal propenSity to save (MPS) is defined as :

(1) The change in saving divided by the change in disposable income

(2) The change in investment divided by the change in national income
(3) The change in savings divided by the change in aggregate expenditure
(4) The change in savings divided by the change in investments

et R (MPS) Y et T & o fer o g

(1) s=a # qRadmEeT e # afEd

@) FrRw ¥ qRadaRT ot # afEds

(3) S=a & Radw/g o # qReds

@) g=a § Raca/Aas § gfecd

Potential GDP represents :

(1) The level of output an economy can produce in the short run

(2) The maximum level of output an economy can produce in the long run
(3) The total value of investment expenditure in an economy

(4) The maximum level of government spending in an economy

daifdg GDP &9iiar ® -

(3) Tl srefegawen # fHasT &7 &1 A T
(4) pe orefoae § WXHN G B SAARTH WX

The impact of an increase in taxes on equilibrium GDP is :
(1) It increases equilibrium GDP

(2) It decreases equilibrium GBP

(3) It has no impact on equilibrium GDP
(4) It depends on other factors e
%30 & gfs & dged 9% iy IS T AHE T ;o

LU ),
“~.‘.‘\'-,
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87. The net export function is influenced by :
(1) Exchange rates and domestic income
(2) Tax rates and government expenditure
(3) Interest rates and savings rate
(4) Inflation rate and investment
o Frafa e S e B
(1) fafera &T ol ERY ST &1
@) &< @ R IR T F B
(3) =TT &X SR FEd A T
(4) ey &3 ST frast ama

The Phillips curve depicts the relationship between :
(1) Government expenditure and fiscal deficit

(2) Inflation and interest rates

(3) Inflation and unemployment ‘

(4) Investment and economic growth

e asp ot & e e genian ©

(1) LB 2T AR ASThIE HTET

(2) TEEHIRT AR AT &3

(3) FETEHIf SR AT

(4) Fasr IR oM faemrd

In the long run, changes in the money supply primarily éﬂ'eci .

(1) The price level and inflation rate

(2) Government expenditure

(3) Interest rates and investment levels

(4) Output levels

Sdeprer #, @mﬁmmw%mm%w
(1) 777 ®&T G?l‘( ﬂﬁmﬁf?{ o0 (I ; »
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90.

91.

92.

93.

94.

Which out of following is qualitative money control tool of central bank ?

(1) Open market operations (2) Bank rate

(3) Reserve requirements (4) Repo

Areiiad § @ @-ar Sl &b Hr OIS o FEEL 3usker 2 7
(1) GaT AR HEAT (2) &I &

3) Red emasasan (4) Y

If the value of multiplier is 4, what will be the value of MPS and MPC ?

(1) .25 and .75 (2) .25 and .25 (3) .75 and .25 (4) .75 and .75
uﬁgﬂ‘cﬁaﬁrqﬂ4%,é’rMPSaﬁ'{MPcaﬁrWaﬂT?ﬁTﬂ?

(1) 25375 (2) 253X .25 (3) .75 30X .25 (4) .75 AR .75

A rightward shift of the IS curve in the IS-LM model indicates :
(1) An increase in government spending (2) An increase in taxes
(3) An increase in the money supply (4) An increase in interest rates

IS-LM Hfed & IS @ 7 arit SR Radep-T aeir @ ¢

(1) g @d H g (2) BT H7 =
(3) g1 oMYRi H i (4) =1 X H g
Hicks model of trade cycle is based on :

(1) Multiplier (2) Accelerator

(3) Harrod Growth (4) All of the above
AU =6 H Bad Jed AR

(1) 7IeTh 9X (2) @I® IX

(3) B0 MT W (4) ST Fefi

The Harrod-Domar growth model suggests that economic growth is dependent on :

(1) The rate of investment and the capital-output ratio

(2) Innovations

(3) Changes in education levels

(4) Government regulations

2e-2my e Atsd sarr & % eniie e e o Feik @
(1) faer 1 a7 ST Yoil-Seqrad ST

(2) FarERT | :

(3) faver & & # oftadH

(4) awrd e
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95. The exchange rate regime in which the central bank allows the exchange rate to
fluctuate within a specified range is called :

(1) Managed float (2) Pegged rate of exchange

(3) Fixed rate of exchange (4) Crawling peg
ﬁﬁmﬂsmﬁaﬁm%ﬁﬁmﬂaﬁwﬁﬁwm%w
SAR-TgT & STgARY AT B, R I B

(1) y&fE we (2)i%rﬁma$ra¢m7réa-<

3) fafvmg & fveg «w (4) fradt @i

A trade surplus occurs, when :

(1) A country's imports surpass its exports

(2) A country's exports are more than its imports

(3) The balance of trade is zero ’

4) There is no international trade at all

FOR AR qg Bl 7, I ¢

(1) Fee 9 &1 ST SES & sifEes & §
(2)%@%ﬂasrﬁahw%am%am@m%

(3) &R dge LI ©
(4)Eﬁ€aa'{f%frqamr(=|€r%

Purchasmg power parity (PPP) theory suggests that exchange rates between countries
should be based on :

(1) Relative levels of inflation

(2) Absolute levels of income

(3) Comparative advantage in production

(4) Relative interest rates
mﬂﬁﬁm(@tﬂtﬂ)mﬁw%ﬁﬁﬁ;,
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98.

99.

100.

The Laffer curve illustrates the relationship between :
(1) Government spending and economic growth

(2) Tax rates and tax revenue

(3) Income inequality and tax

(4) Tax and public goods

AT g e g ey a8
(1) ST @ R Infdleh fasra
(2) X P T M HT WA

(3) ST STAAHAT 3 HY

(4) HX AR FESID GHH

The concept of deadweight loss is associated with :

(1) Government subsidies (2) Tax evasion

(3) Public debt (4) None of above

23T A H YR FEET B ¢

(1) §XH ST 4 (2) H AT A

(3) TESIE RO | (4) SIAH H H B3 el

Horizontal equity in taxation refers to :
(1) Taxing individuals not based on their ability to pay
(2) Treating individuals with different income levels in a similar manner

(3) Treating individuals with similar income levels equally
(4) Taxing individuals based on their consumption behaviors

Wﬁﬁaﬁﬁsﬁaﬁﬁﬁaaﬂ?ﬁ%:

(1) a#fRFE 9T I A HIA bl &AT D SR G HT T I
(2) faftr=r o &R 9 ARKAT ® AT FHA FAER HI

(3) 99 ST WY aid ApAl & WY AN HABR HLAT

(4) =fepat UT IS ITANT FGBR & SER X HT T
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4. Marginal revenue is the change in :

(1) Total revenue resulting from a one-unit change in cost

(2) Total revenue resulting from a one-unit change in sales

(3) Average revenue resulting from a one-unit change in output
(4) Total cost resulting from a one-unit change in output

g o aRkad @ _

(1) o ¥ T g IRacT & ROy B AT

) fREh § o s dRadH & IROmETEEy B e

(3) oTSegE § UH-IE dRaEdE & uRerHeEEd Sl o
(4) STSeYE H UH-3H13 TR b AROTHEET H AT

Long-period costs are those costs that :

(1) Can be adjusted in the long run to adapt to changes in production levels

(2) Remain fixed regardless of changes in production levels

(3) Are incurred only in the short run ; :

(4) Are not relevant to the analysis of production costs

SN AF 3 AR & S

(1) ST &1 § qRadd @ ofggd e & o o |9y § gumEisa
ST el @ '

(2) IET &3 F gRede @ axare fhu oA Rer @

(3) Faa SuEy & @ fFu S 2

(4) I @rTE & faedmer & g e T€ 2

Break-even point occurs, when : ;

(1) Total revenue equals total cost

(2) Total revenue outstrips total cost )

(3) Total cost surpasses total revenue bt |

(4) The firm is operating at a loss : P




2

4 The mOde
; 0 Technological advancements in reducing production costs

(2) Government regulations on cost management

theory of costs emphasizes the importance of ;

(3) Reserve capacity
(4) Social and environmental costs

e & oy R e wee g o a4 @
(1) RS SO B H H A TheAlhl S

(2) ST TEEE UX R I

(3) SARMRT & .

(4) ERED SN el A

5. In the short run, a monopoly firm maximizes its profit by producing at the level,
where :
(1) Marginal cost equals marginal revenue
(2) Average total cost is at its minimum point
(3) Price equals marginal cost
(4) Price excecds average total cost
STEIHE H, TH THIABHN B I WX I IET HD YA A Bl ATTHTH
HIAT 8, &l -
(1) SFid arg 9Hia IoE $ FU§K 8kl 8
(2) SNEd HI AR A FAqH foig T B
(3) FHHd dHid aFd B FXEX Bl 8
(4) Saa ST T AR A S ®

6. Which model gives stable solution ?

(1) Cournot's model

(2) Bertrand's model

(3) Both

(4) None

r-ar dfsw e AT &dr 8 7
(1) &1eA @l Arsd

(2) FgvS & HiSH

(3) @At

(4) g T
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7. Price rigidity in oligopoly refers 1o T .
(1) The inability of firms 10 change their prices frequently

2) The fixed prices scl by the povernment

(3) The collusion among businesses (o keep prices at a constant level
(4) The price refinement practices in oligopolistic markets

SR 7 ge el A T 8
(1) WAt @ STl gl Y A" ages 7 SrHed

mmmﬁmﬁﬁag@
(3)M®Wwwr@%%wm%aﬁamﬂqm

(4) SEARAHA TR H Fed e Fr

8. The Coase theorem suggests that :
(1) Market participants can negotiatc and reach efficient outcomes in the presence of

externalities
(2) Government interference is always necessary (o address market failures

(3) Monopolies are inherently efficient but still should be abolished

(4) Transaction costs are the primary causc of market failures

FrE FAT F g1 FAA & 6 ¢

(1) SR |edFll Sed Y " & S e @l suftafad #
gl a6 9gd T 8

(2)enaﬂ%a?r Rarell @l gx @i B [0 GBI BEIET BHIA HAEIED
BIar

(B)meﬁﬁﬁwﬁ@m%éﬁﬂmaﬁsﬁmmﬁmw
glieq

(4) -39 & AT TR B fAwaareT F RS BT ®

9. The modern theory of rent suggests that rent is determined by :
(1) The scarcity of a factor in relation to its demand :
(2) The negotiating power of factor owners
(3) The price elasticity of demand for the land
(4) The government's land-use policies
Wwwgﬁ%ﬁ?@mw%ﬁswﬁuﬁam%:
(1) 58P AT & Gd9 7 U HRep 6 Bl @
(2) @ Afeht & gprg &5 ofs §
(3) 4f® @1 =17 & FHHT " q
(4) F@R @ 4w 3udr AifeEdt &
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13.

|

12.

Theories of interest include :

(1) Classical theory and Keynesian theory

(2) Loanable funds theory and liquidity preference theory
(3) Fisher's theory and Marxian theory

(4) Nominal interest and real interest theory

oo & foiar § afe @

(1) ey Rysia ol dafyae Ry

@) o7 Qv Y Regia o axeran adgdn Rssia
(3) RpeR @1 Rysia R Aifpwae Rssict

(4) SEEE B SN SR ardtad AT Bl gl

If the value of multiplier is 4, what will be the value of MPS an& MPC ?
(1) .25 and .75 (2) .25 and .25 (3) .75 and .25 (4) .75 and .75
IR T H A 4 7, A MPS AR MPC &l 5 41 8rT ?

(1) 25375 (2) 25925  (3) 758k 25 (4) 753R.T5

A rightward shift of the IS curve in the IS-LM model indicates :
(I) An increase in government spending

(2) An increase in taxes

(3) An increase in the money supply

(4) An increase in interest rates

IS-LMq‘TsaﬁlsaaswmﬁreﬁTmzwasﬁm%
(1) = &g 7 gfes
(2) = * gha '

(3) 7a Smgfef 7 ghx
(4) = = H ghs

Hicks model of trade cycle is based on :

(1) Multiplier , (2) Accelerator

(3) Harrod Growth (4) All of the above
(1) T o e s i (2 i
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14. The Harrod-Domar growth model suggests that economic growth is dependent on
(1) The ratc of investment and the capital-output ratio
(2) [nnovations

(3) Changes in education levels

) Government regulations
%ﬁg—@m%mﬁ%ﬁaﬁm%ﬁﬁaﬂ%ﬁiﬁmﬁmwﬁm%:
(1) PR 3 & AT YEA-STTET ST

(2) TEER

(3) e & &I H giRad=

(4) TR

The exchange rate regime in which the central bank allows the exchange rate to

fluctuate within a specified range is called :
(1) Managed float : (2). Pegged rate of exchange

(3) Fixed rate of exchange (4) Crawling peg

S ey oTEd PrEd aEw ¥ g X @ o Ffdse @ & s
SAR-TeE I SR I &, HeET Sl B |

(1) Seife Al 2) fafsma @ st T

(3) fafma & FfEd & (4) faEdl i

16. A trade surplus occurs, when :
(1) A country's imports surpass its exports
2) A coﬁntry's exports are more than its imports
(3) The balance of trade is zero |
(4) There is no international trade at all
AR A qg Erdr B, 59
(1) foret 2e1 &1 e 3as frafg & oI &em @
(2) forein 2er1 &1 frafa SE® oo @ e BT 8
(3) =AM HIAT LA B |
(4) 1 Siadiem @ 786 &
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17. Purchasing power parity (PPP) theory suggests that exchange rates between countries
should be based on |
(1) Relative levels of inflation (2) Absolute levels of income
(3) Comparative advantage in production (4) Relative interest rates

7 gfp wer (W) Resia scrm 8 f A9t @ et fafE ax Frer g7

aiRa @l =nfe
(1)Wﬁ%aﬁaw (2) A &l gol &L
(3) Seared H JAIeTh A (4) @rier &t &t

18. The Laffer curve illustrates the relationship between :
(1) Government spending and economic growth
(2) Tax rates and tax revenue
(3) Income inequality and tax

(4) Tax and public goods
NG sk el B e Hee Qi §

(1) S T AR anfEye faen™

(2) BT B/ T R HL WA

! (3) ST TEAMAT A &

(4) /X AR FESIH A . -

19. The concept of deadweight loss is associated with :

(1) Government subsidies (2) Tax evasion

(3) Public debt (4) None of above

(1) g TaE 4 4 (2) X A |

(3) TESITh R | (4) SUH H q B3 8

20. Horizontal equity in taxation refers to : ;
(1) Taxing individuals not based on their ability to pa
(2) Treating individuals with different income levels in a similar manner
(3) Treating individuals with similar income levels equally
(4) Taxing individuals based on their consumption behaviors
FaaE 7 Afaer s d@afia s § ¢
(1) @aftral 9% I GIAF HIA Sl &H & SR YT HYT T 01
(2) fafw=1 &g @ gt ARG & T FHE SRR HIAT
(3) @AM A X a1 ARKAT & A qHH HAER HAT
(4) AR 9T IAH IYAT FHIBR & SR G HT ST
PG-EE-June, 2023/(Economics)(SET-X)/(B)
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21.

22,

23.

The National Rural Livelihoods Mission (NRILM) was launched in which year 7

(1) 2005 (2) 2009
(3) 2013 (4) 2016
sty arfror aroffaesr e (qammuean) fape ad g@ @ mar ar 7
(1) 2005 (2) 2009
(3) 2013 (4) 2016

The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) was
implemented in which year ?

(1) 2005 (2) 2008

(3) 2010 (4) 2012

TEreqr e U arfior Ase M eAfefrem (g faEe ad @ A T
oqr 7

(1) 2005 {5y 5008

(3) 2010 (4) 2012

The National Skill Development Mission was launched in which year ?
(1) 2008 \ (2) 2010

(3) 2014 (4) 2016
r@ﬁwaﬁwﬁﬁmﬁrmﬁwaﬁmmwm?

(1) 2008 . (2) 2010

(3) 2014 , (4) 2016

The Rashtriya Swasthya Bima Yojana (RSBY) provides health insurance coverage to :
(1) Rural households below the poverty line
(2) Urban unemployed individuals

(3) Government employees

(4) Self-employcd professionals \
WWMW(RSBY)WﬁrW@WWWW%

(l)miﬁrﬁﬂ%%mﬁﬂrqﬁ‘aﬂ
(2)91363‘661#!‘(81&5

N

®) LSECTE ‘}*mr«



25. Recent trends in agricultural development in India show a deceleration in

- 26.

(1) Crop yield per hectare (2) Agricultural exports
(3) Millet production (4) Irrigated land arca
WA F P R B R ygheEt § ad Red 3@ Y
(1) 9T BRI HFA B IS (2) B Frafa

(3) TS e (4) Riferer sgfiy &

In recent years, the government has introduced schemes such as :
(1) Pradhan Mantri Fasal Bima Yojana (PMFBY)

(2) Pradhan Mantri Kisan Saminan Nidhi (PM-KISAN)

(3) Rashtriya Krishi Vikas Yojana (RKVY)

(4) All of the above

BN & sl H, W%ﬁwaﬁaﬁ?ﬁfﬂm&g@ﬁ%
(1) Fa=i ®ad ST AT (Neaudars)

(2) va=ET feaE g MY (foa-feam)

(3) TS F B Ao ()

(4) ST FM

The concept of "Inclusive Development" emphasizes :

(1) Reducing regional disparities in development

(2) Ensuring equitable access to foreign trips

(3) Promoting entertainment

(4) None of the above

‘garash e’ a%mmwﬁwrmw%ﬁ%: |
(l)ﬁiﬁrﬂﬁ@lﬁﬂ ? m I J] FH HAT
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28. According 0 the Periodic Labour Force Survey (PLES) 2019-20, the unemployment

rate in India-was approximately closer to &
(1) 3% (2) 5% (3) % (4) 9%
srafes ST S ARl (Pewad) 201920 & AN, A # Fomrs o

T B o
(1) 3% (2) 5% (3) 7% 4) 9%

. The Stand-Up India scheme promotes entrepreneurship among :
(1) Scheduled Castes (SCs) and Scheduled Tribes (STs)
(2) Women entrepreneurs
(3) Minority communities
(4) All of the above
Se_o7q AT AT IEHelEET B T A ©
(1) sTgafea STy (TEeh) R erggfee S (TEed)
(2) afear Izl
(3) STIEETD e
(4) SUA<H A

The concept of sustainable agriculturc emphasizes :

(1) Modern farming practices - (2) Exploitation of natural resources
(3) Diversification of crops (4) None of the above

RO FH P SFauren B o ae & T

(1) smgfe P Tl (2) STHes daTET Bl e
(3) wES! & AT (4) IEH F q FE T8

. Environment is considered a luxury, because :
(1) Only affluent individuals can afford to enjoy natufe_ and environmental amenities
(2) Environmental preservation réquires significant financial investments
(3) Environmental degradation is mainly associated with poverty
(4) Environmental issues are more prcvalent in developed Qounmes b

; e )"'J”rJ Y ‘_,‘ B
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32 The population-environment linkage mainly refers to
(1) The impact of population gr owth on environmental degradation
(2) The interaction between human populations and the natural environment
(3) The role of environmental policies in controlling population growth
(4) The relationship between population density and economic development
STereRET-gataReT ey gy e A dafifd e @
(1) 9aiaReT &R UR SHEET gie &1 99rd
(2) HFE HEREl AR WhRieh AwAERl & &e qeed? b
(3) STrEET ghe @ R B watwer ARt @ gt
(4) SHEET g AR S e & e deg

Features of the environment as a public goods include :

(1) Rivalry and excludability

(2) Non-rivalry and non-excludability

(3) Rivalry and non-excludability

(4) Non-rivalry and excludability
aﬁaﬁ%a&%mﬁwﬁwﬁﬁ@w@ﬁmﬁﬁ%
(1) wfrgfaar oI afe=her

2) T-wfaEfaa Sk IR-afEspad

(3) sfergfedr SR IR-afspa

(4) Tr-afefaar IR e

. The components of the environment include :
(1) Natural resources, ecosystems and biodiversity
(2) Infrastructure, population, technology and capital
(3) Education and healthcare

(4) Govemmenr polwws
'E: 1q43°T - 8
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35. Environment

(1) The positive special effects
(2) The unintended costs Or benefits imposed on third parties by economic activitics

(3) The thoughtful actions of individuals to protect the environment
(4) The impact of population growth on environmental resources
@mﬁaaﬁﬁmmﬁ%gﬁﬁ@%m% o dafifa wear 2 ¢

(l)mﬂaﬁ?ﬁnﬁﬁfﬁﬁ%wﬁs‘rﬁrqﬂ
SR gef U QT Y STQfere SFT AT AT

(3)qaiarwaﬁm%maqﬁﬁ&f%ﬁamﬁam
(4)qqiawﬁqwuﬁrwquﬁ§wqm

al economics addresses the issue of externalities, which refers to
of economic activities on the environment

Environmental valuation techniques are used to : -s'

(1) Assign a monetary value to environmental goods and services
(2) Measure the social importance of the environment
(3) Measure the cultural importance of the environment
(4) Predict future environmental trends and challenges

qafaReiia Gedihe qebeth 1 SN bt St 2
(1)mhma1§aﬁ@?amaﬁ%m@ﬁmﬁmﬁﬁsamﬁ
(2) wafaReT & QIS Jed Bl aa H
(3) wgfaReT & diEhs Hed & Ay 7
(4)ﬂﬁwaﬁquhmqqﬁﬁaﬂ1ﬁﬁﬁraﬁﬂm°ﬁmﬁ

Environmental legislations in India include :

(1) The Water (Preventlon and Control of Pollution) Act
(2) The Air (Prevention and Control of Pollution) Act
(3) The Environment Protection Act

(4) All of the above
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38.

39.

Sustainable development requires the integration of :

(1) Economic development, social equity and environmental protection
(2) Technological progresses and innovation

(3) Global cooperation

(4) All of the above

gaq e @ R Fe & afleor &1 Saeiddr 8

(1) ot faesr, wrifes gamar af gafeaor deearo

(2) T IR oY A=

(3) afRah TEWT

(4) SWIH TR

Environmenﬁl impact assessments are conducted to :

(1) Evaluate the potential environmental consequences of proposed development
projects

(2) Evaluate the ecological value of protected areas

(3) Monitor pollution levels in industrial zones

(4) Implement sustainable waste management practices

RN 991 1 STehe 6 ST ¥

(1) sEifad feprd aREsTHIeT & gaifad qafarcia aRemst &1 gegis & e
(2) & &= & JRRAfe 979 &1 e B e

- (3) T At ¥ e & wR) # R $ R
- (4) TR SR yEEE SIS A AN HRA B g

The causes of environmental pollution include :

(1) Emission of pollutants from factories and vehicles
(2) Improper waste disposal
(3) Agricultural activities involving use of pesticides
(4) All of the above |

TAEIOT YENeT & HIO H SMHA ©

(1) BrE@t X et § Jguh! H IEsH
(2) 3= emfarse fges

(3) FreTert & Ighr § S

& . ‘,;‘;S;‘.v, g A




a1.

42.

47.

What should be the missing value 450,42, b 26, 18, 10,22

(1) 34 (2) 32 (3) 30 (4) 35
450, 42, cooreer 26,18,10.2ﬁgﬂmw€!ﬂ1aﬁn ?

What should be the missing value 840, 168, 42, 14, ........ ;17

(1 9 (2) 7 (3) 6 (4) 10
240, 168, 42, 14, woooeen ,1ﬁgﬂmﬂwmm?

M9 () 7 (3) 6 (4) 10
What should come in the series of A, E, J, |l g By 7

1) Y ) W (B (4) S
AELP e N sjger ¥ @r ST = ?

Y (2) \\Y 3) V 4) S
Fill the missing value in the series ZKC, YLD, ..c.cccoeee WNF, VOG

(1) XME (2) EMX (3) MEX (4) XEM
YRCHID, -t WNE, VOG =@e & gad # #X | ,
(1) XME (2) EMX (3) MEX - (4) XEM
If "+" means n/n, n*nAmeanS n__n, "M means ||+u’ and "_" means n*n’ then 16/8*6 __ 14+ 12= 9

(1) 23 (2) 24 _ (3)- L 4) 18

Z]ﬁ PR | aﬁf n/u’ (EL a:{?i n__n, LYLG qui n+n’ aﬁ—{- I~ § a:l-?ir nk %’ a
16/8%6 -2 +12=? - . S

[13:23 - .. (2) 24 B)ekd o w AELS

A man covers 40 km in 2% hours. Find the distance covered in 10 hours @

(1) 150 km (2) 140 km (3) 160 km (4) 120 km

uF e 24 €2 F 40 R 7T W B 10 2 F qg @ T g s A
(1) 150 feeer ) 140fF R (3) 160 fort 4) 120 fepeit

1o 3 ’ : » . r: £ oy . LN
X's income is 80% of Y's. Y's income is 60% of Z's income. If Z's income is Rs. 1,00.000,
then what is X's income ? st g N

(1) Rs. 48,000 2o 45 oo iiEN (it .
X @ o Y o oo e r 60 z#
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48.

- B
Rohit sold his old bike and earned a profit of 20%. If he could have mana
for Rs. 10,000 more, then his profit would have been be 40%,
he bought the bike ?
(1) Rs. 50,000  (2) Rs. 40,000 (3) Rs. 45,000  (4) Rs. 55,000

e ¥ oraet gUA WEH A N 20% e anar weer o Afr aw 58y 10,000 50
sifees A AT UI, W STR A 0% BN | AB AT A FY Bt 7 5oy
s @ad & 7

(1) 50,000 50 (2) 40,000 o (3) 45,000 5o (4) 55,000 5o

\ ged 1o sell it
Find the price at which

. A man took a loan from a bank at the rate of 10% p.a. simple interest. After two years,

he had to pay Rs. 2,500 interest only for the period. The principal amount borrowed by
him was :

(1) Rs. 10,500 (2) Rs. 11,000 (3) Rs. 12,500 (4) Rs. 13,000

TH HEH N T S § AEROT AN W 10% SRy a9 @ ax & o7 e

q¥ SIS I8 IF oM@ B A HAA 2500 o HT AN FHAT UST | IHB =
IgR & TS g AR o

(1) 10,500 To (2) 11,0000 (3) 12,500 Bo (4) 13,000 Bo

. The average monthly income of A and B is Rs. 4,000. The average monthly income of

51.

B and C is Rs. 7,250 and the average monthly income of A and C is Rs. 5,200. The
monthly income of A is : 4

(1) Rs. 1,950 (2) Rs. 1,850 93) Rs1.750 (4) Rs. 2,150

A X B & Hq A ST 4,000 o ¥1 B X C &1 oiga wifss o
7,250 Bo 8 3R A 3R C & Hd AI¥H A 5,200 Fo Bl A & Ak A
-2

(1) 1,950 Bo q2) 1850 Fo ha (3)F 1780 TG v - (4) 2,150 Ba

If 'EVERYTHING' is coded as 'GHENGRIVET’,. then how will you code "TREL" ?
(1) RGNE (2) ENGR ‘

(3) NEGR | (4) RNGE
af 'EVERYTHING' &1 'GHENGRI 4 | @fea fear S B, @ S

DI =r
el [ | < of S T
=) P O 7, o




52.

53.

55.

15

In a given number 7943325913, we interchange the first and the sccond digits, the thi
and the fourth digit and so on. Then which digit will be sixth from the right 7 ! ird

1) 2 (2) 3 (3) 4 (4) 9

oo & TS WA 7943325913 W ® U S qul i A sy it
mﬁﬁwmaﬁsﬁmmlﬁﬁﬂ-mmmgmm?%’

(1) 2 (2) 3 (3) 4 (4) 9

If'BORROW!' is coded as 589134. then how will you code 'BROW ?

(1) 5934 (2) 5493 (3) 4395 (4) 4935

afs 'BORROW' &I 589134 & &4 & ifecd far Sfrar B, & a9 'BROW' =
3] P BA ?

(1) 5934 (2) 5493 (3) 4395 (4) 4935

If D5N19E' stands for 'DENSE and 'D1F20' stands for DAFT', then how will you code
DECENT' ? |

(1) DC5N205 (2) D20C5N5 = (3) D5C5N20  (4) D55C20N

gz 'DSNI9E' @ a=f 'DENSE' X 'DIF20' &1 3 'DAFT g, ar g
DECENT' & &8 HIfSq Har 7 _

(1) DC5N205 (2) D20C5N5 (3) D5C5N20 (4) D55C20N

Choose the pair in which the words are differéntly related :

(1) MUSIC : ART ~ (2) PEPPER : SALT
(3) FROWN : SMILE e (4) MAN : CROWD
g8 779 g+ Prad o= B R @ ddfta ¥

(1) E0e = el (2) wreN = THE
(3) 9 g : FEHUAT " (4) el ol

Choose the group of letters that is different from others :
(1) MLK (2) KJI i (AR TSR

S (3);RQPia s
F a8 g9F Fi A1 S8 B B L

il
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58.

$9.

61.

B
A and B are brothers. C and D are sisters. A's son is D's brother. How is B related to C 2
(1) Uncle (2) Grandfather
(3) Father (4) None of the above

Aaﬁ‘(Bm’é%lCaﬁ‘(Daﬁ%lAaﬁrgal)am*mé%lu,camw
gsife 8 7 |

(1) ar=t (2) &

() Tt (4) S § A B A

paras walked 30 m towards east, took a left turn, and walked 20 m. He took a right turn
and walked 30 m. Then, he took right turn and stopped. He is now facing ?

(1) North (2) East - (3) South (4) West
qrE g @ SR 30 Hex =@, @ ger oM 20 Hex =) g8 @ g3 AR
30 Hex =@ | R, @ & ger olx &% 1| g8 I € © 7

(1) S () @ (3) afaroT (4) dfe=H

The price of a commodity increases first by 30% and then decrease by 20%. What is
the net increase in the price ? -

(1) 14% () 10%

(3) 4% (4) None of the above

Rpe aRg & FHA TR 30% ol ¥ SR Y 20% "e Sl ¥ oA H I
gie F=m 2 ? , |

(1) 14% (2) 10%

(3) 4% : . (4) SR<p H F HE TEl

Underdeveloped Countries are characterized by :

(1) High income levels and cutting-edge infrastructure

(2) High levels of foreign investment and trade

(3) Balanced economic development and equal income distribution

(4) Low income levels and limited industrialization

SAfemfaa 290 &1 9w el @ ¢
(1) T=a o & A Ay g @
(2) fa=elt Maer 8w 29 &1 =9 &Y

ot i)
¥
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62. Economic development involves :
(1) The increase in per capita income only

(2) Theimprovement in social indicators and well-being

(3) The creation of democratic institutions
(4) The embracing of free trade policies
e e # nfaa @

(1) Ba iy =aRp o & ghs

(2) STIRTH Hdham! 3R Walg d gu
(3) TpaitNep TEmSA 1 AT

(4) g6 AWR AfET I STIAHT

The vicious circle of poverty refers to :

(1) The spread of poverty due to low educational levels

(2) The intergenerational diffusion of poverty

(3) The cycle of low income leading to low savings and investment
(4) The lack of access to credit and financial services for the poor
TS BT g5 HAWT BT B

(1) = Afers ©@X & HROT T & TR B

(2) T @B ARSI TER B

(3) %H T H =h HH god IR R H X o S A
4) TS 3 forg wor o) faxim Werell @ ugd @ HHT Bl

Structural transformation mainly refers to :
(1) The shift from agriculture to industry as the only main driver of economic growth

(2) The process of urbanization
(3) The diversification of the economy and the development of new sectors

(4) The adoption of globalization

AT 9fade g @9 9 H@afHd war ©

(1) onfeies faepre & uehAT= ged = & ®9 H FY § I § qeaa
(2) sredigmTor i ufhan
(3)aaésaatmzsri%rﬁr2ﬁwaﬂraqaﬁramm

(4) A9dTHTOT FN SAYATT

PG-EE-June, 2023/(Economics)(SET-X)/(B)




The poverty trap refers to
(1) The inability of the poor to escape poverty due to limited opportunitics

(2) The cyclical nature of poverty in developed countries
(3) The concentration of wealth in the hands of a few individuals

(4) The effect of inflation on the purchasing power of the poor
Tt ST § arad @ .
(1)@maﬁﬁéwnﬁﬁaﬁwﬂ%ﬁaaﬂ%ﬁmém
(2) RrsRT et F R A =t sk

(3) |B ARFAT B B H G b1 BABT

(4) TS # HY ARG I GARERIT B AT

Balanced growth theory suggests that economic development should focus on :

(1) Focusing resources in a few sectors only

(2) Diversifying the economy across multiple sectors simultaneously

(3) Prioritizing agriculture over industrial development

(4) Relying on FDI for economic growth i
ﬁgﬁaqﬁm@ﬁw%%aﬁmmaﬁﬁwwm%ﬁﬁﬁm
e : | -

(1) SEre! B BT Ho & H BET HIAT
(2)t{aswaréasﬁfraqeisqawemfaﬁeﬁw
(3) S b aT H B HrEEEAT ST
(4) i fra @ g Tedend o FeR e

1

As per the Lewis' model, the "informal sector" refers to :

(1) Industries which are not regulated by the government

(2) The rural activities -

(3) Small-scale enterprises and self-employment

(4) Technologically advanced industries with high capital intensity
dfeq Hied & STGAR, ‘SHITEIRD &%

T 9{hl
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68. According to Leibenstein, the ecritical minimum effort required for economic
development :

(1) Varies across different sectors and countries

(2) Can be achieved through foreign financial assistance only

(3) Requires high levels of government intervention

(4) Depends on the disposal of natural resources and raw materials

NTEH B ogER, o R & Ry easads deeqel FrAaH HArd
(1) R_RfS= &=t ofix AWt & iy &ar @
(Z)Wﬁﬁﬁﬁﬁwm%mmﬁﬁwﬁmmm%

(3) =T WX B GBI AT F EIHAT

(4) TS FETEE olR Fey i & fFued ¥ R @wRer B

The concept of "strategic sectors” in unbalanced growth theory‘ refers to :

(1) Sectors that have a comparative advantage in international trade

(2) Industries crucial for national security and defense

(3) Sectors with high potential for technological innovation

(4) The prioritization of specific sectors for government support and investment

sTEgfe e Reia § OFIRes 88 @ SEERen dEiid Sl ®
(1) BT &5 e Fqdig AR # goees e 8

(2) IS gLET AR W & e SEn "eaydf @

(3) TeE FarER B g = & 9 &

(4) e FerEar o} Py & e Rk &1 @ s

70. According to the critical minimum effort thesis, economic development requires :
(1) Investment in physical capital and infrastructure
(2) Adequate levels of government expenditure and public services
(3) Efforts to improve human capital and education
(4) All Of’ﬂw ?b,""@ P 3

ey
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71.

The Economic Survey of India is prepared by :

(1) The Ministry of Finance

(2) The Reserve Bank of India
(3) The Planning Commmission (now replaced by NITI Aayog)

4) All of the above

. The Indian economy has witnessed a shift from :

(1) Agriculture to industry and services

(2) Import substitution to export-oriented growth
(3) Command economy to market-oriented reforms
(4) All of the above

G ereferaEn # gewE @ Tl R

(1) P & T&AT AR Fad

(2) s s 8§ Faa-se 9™

(3) FAE SrgET § e GuR

(4) SI<H G

. The role of the public sector in the Indian economy includes :

(1) Providing Infrastructure for rich people

(2) Provision of non-essential services

(3) Promoting equitable growth and social welfare

(4) All of the above
Wammﬁaﬁaﬁm%ﬁmﬁam%

(1)emzmaamgﬁma




Economic reforms in India have focused on

(1) Liberalization, prlvat17auon and globalization

(2) Promoting foreign interference

(3) Enhancing in efficiency

(4) None of the above

e #, onfie gurd ¥ e oy ers e fhar a9 ® o

(1) IETQHOT, ASHHOT SR ALATHT
(2) faRelt swRT & e &

(3) =eram H gfs
(4) SUH H | Fg TS

Economic planning in India was characterized by :
(1) Five-year plans (2) Centralized taxation

(3) Wastage of resources 4) All of the above
qRg # o e &t fqQuwar o ¢

(1) JuasiE oA (2) BETRT BT
(3) HaTgA! H FSIEl (4) IH @it

The Gini coefficient is a measure of : :

(1) Income inequality : (2) Population growth rate
(3) Literacy rate (4) Poverty rate

it [eTis T HIG ® ' |
(1) 3T STEHEAT &l (2) STHEET gl X &l
(3) 9rerar &< Bl (4)11ﬁ'éﬁarao°r

The concept of the "Population Pyramld" is used to study :
(1) Age-sex composition of the population

(2) Fertility and mortality rates

(3) Mlgratlon pattems B

(4) All of the sbove . P
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78.

79.

80.

B

The concept of "Human Development Index (HDI)" takes into account indicators such

as :
(2) Hducation attainment

(1) Life expectancy
(4) All of the above

(3) Per capita income
v R geEebiss (HDD)” I STasree Frer Y ARt H oA @S T
(1) S THIRm (2) faretr ofeer

(3) wfa =afh A (4) STdH Gt

The Deendayal Antyodaya Yojana-National Urban Livelihoods Mission (DAY-
NULM) aims to alleviate poverty by focusing on :

(1) Rural employment generation

(2) Skill development in urban areas

(3) Housing for the homeless

(4) Women empowerment in rural areas

S Sl AU el i fAee (SeeE-TTeeeE)
Sea Prefrad O S BE B T B HH BT T

(1) T ASHIRY goid

(2) B &=t H e faenrE

(3) I & @ A

(4) Trdtor &= 7 AR ASTRAHIOT

The Pradhan Mantri Mudra Yojana (PMMY) provides financial assistance to :
(1) Micro, small and medium enterprises (MSMEs)

(2) Farmers for agricultural development

(3) Students for higher education

(4) Individuals for affordable hous.ing

qerEET gET AT (PMMY) Bt @1 R Semar o e ©
(1) ged, B1eT SR Hegd Jed (THUHUAS)

(2) FE fwE & fo fFHam

(3) g=a faenm & foQ s

(4) Tt SaTd & fom @iftn
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81.

When the Cross elasticity of demand is zero, the poods are :
(D Substitutes (2) Perfect Substitutes
(3) Not related (4) Complementary

S/ T @ oS! e LA 'Kl B, o gwgd exft ¥
(1) TEEH (2) got zerTa=1
(3) Gsfya et (4) 9%

Microeconomics primarily focuses on :

(1) The behavior of individual firms and industries
(2) The overall performance of the economy

(3) Government policies and regulations

4 Intemational' trade and finance
We@nag@wﬁﬁmwaﬁ?am%?
(1) SR BAT AR AT T SRR

(2) STefemawn &I AT FAS

(3) FLHIX &I Alferat 3

(4) et @R AR

Cardinal utility analysis suggests that :

(1) Utility can be measured and quantified numerically

(2) Utility is subjective and cannot be measured objectively

(3) Utility is determined solely by a consumer's ii}goge level

ailradd
1N €

(4) Utility is not relevant in understan
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84. If marginal utility of money is diminishing instead of constant the amount of consumer

surplus will :

(1) Increase (2) Decrease

(3) Remain same (4) Cannot be predicted

gk g9 @ Wia ST Rex 81 & &ty "e @ B, a1 IuhRer sfudy o
fyr anft

(1) s (2) =g
3) ga= = (4) wAfaszerol &1 &1 S Fepeft
. Consumer equilibrium occurs, when :

(1) Marginal utility is negative for all goods consumed

(2) Total utility is maximized given the consumer's budget constraint

(3) Marginal utility is equal for all goods consumed

(4) Total utility is equal to zero

SUHRHl 99 a9 BT B, S

(1) SUHRT &l 18 &0 axgelt & o @ia Su=far swomers e
(2) STHRET B ToTE A FN B 3@ gu B ST SE B
(3) SUHERT & TS T/ aEgeT » fow dwiag suRter g e

(4) FT STANT F & T &

. Marginal rate of sﬁbstituti_on of fwo perfect substitute goods will be :
(1) Diminishing
(2) Increasing
(3) Constant
(4) Initially increasing and later decreasing

ar ot

ch -
A
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g7. The budget line represents
(1) All possible combinations of goods a consumer can afford given their income and
the prices of the goods

(2) The trade-offs a consumer makes between leisure and work

(3) The relationship between price and quantity supplied for a specific goods

(4) The total income a consumer has after purchasing all desired goods and services

goe @ it B

(1) " B el gt @l S o Suerehn ST T Sl e Bt At
P qed HX Tl 8

(3)m_ﬁmm%man®ﬂﬁWWW%mﬁq

(@) @t aifea aegelt ofY Jarell A Tl & a8 Teh SUHIH B FA AF

. Movements along the supply curve occur due to changes in : :
(1) Preferences of consumers (2) Consumer's income and tastes
(3) Price of the goods being supplied  (4) Government policies
off @ W Haee e A aRads & wRer & @ ,
(1) STARHIST B FrIfHesaTy (2) SUARAT W T AR B
(3) SRS 1 T L& TEST B BT (4) FEHR GRS INEII

89. External economies of scale refer to :
(1) Cost savings from the growth and expansion of an individual firm
(2) Cost savings from the availability of cheap raw materials
(3) Cost savings from technological advancements in the production process
(4) Cost savings from the cooperation and coordination among firms in an industry

R # gl Paetiar @i sl o

(1) aafera o & faema X e & | sea

(2) T Fea "I FH IUTEAT F AR dEd

(3) TarEs ufpar H dd-ehl W A AN e

(4) w 3EmT § wAT & G "GEAET 8 §HEY A @NTE S

- The law of variable proportions shows :
(1) Long run production function  (2)

(101




Real income is
(1) The total income carned by a household in a specific period

(2) The income adjusted for inflation to reflect changes in purchasing power
(3) The income after deducting taxes and other deductions

(4) The income derived from investments and financial assets

qreafas o ® ¢

(1) o Rftre oy & wsh aRar ara sl o o ,

@) %9 SR ¥ aRads & qui & R gEeifs & o aEs
3) FI 3R g FHARE H Hled & A& B A

@) Ry xR o< dofkn | g e

Limitations of the GDP concept include all except :
(1) Exclusion of non-market production

(2) Failure to account for income distribution among different groups

(3) Neglecting environmental and social costs

(4) Income of households and firms
Waﬁmﬁaﬁmﬁ@m@ﬁﬁw%mwmﬁm%
(1) - IATE 1 SEs=hoT
(2)%@:@%@amﬁaw%m@ﬁﬁﬁm

(3) Tatazer SR ErIfSTh ARK @bl & BT

(4) =37 ST HAT B T

93. The expenditure approach to measuring national income focuses on -
/(1) Summing up the value-added at each stage of production
(2) Adding up all the spending by houscholds, firms, government and net exports
(3) Calculating the total income earned by individuals
(4) Estimating the value of all final goods and services produced in the economy

AL S A B g @ gftesh e a7
(1)@13'-1%5@25%!?07‘3(6%3 WEEIQ‘T
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g4. The marginal propensity to save (M) b defined wy

(1) The change in saving divided by the ehinnpe in disposable income
(2) The change in investment divided by the change in national income
(3) The change in savings divided by the chanpe in agpreppie srpenditure
(4) The change in savings divided by the change in investments
i e-IRT (MPS) @t [t 2 A afveifren fmay o ¥
(1) s=a F qRads/sEea ot A aftads
(2)ﬁ%sTﬁqﬁaﬁ={/v@Hamﬁqﬁaﬁﬂ
(3) T 7 IRA/GT T F qfeds

(&) s=a & aRad/AE F qfad=

g5. Potential GDP represents : .
(1) The level of output an economy can produce in the short run

(2) The maximum level of output an economy can produce in the long run

(3) The total value of investment expenditure in an economy

(4) The maximum level of government spending in an economy

gefad GDP 90l © ¢ ' BT
(1)Wwwwmmﬁmmm%
(2)mequmﬁwﬁmmﬁﬁ%
(3) ot srefeqaeen ¥ fasr & &1 I TH A
(@mmiaawﬁfﬂmﬁaézma@wqw.

96. The impact of an increase in taxes on équilibriuni‘GDP 1S
(1) It increases equilibrium GDP o)
(2) It decreases equilibrium GDP
(3) It has no impact on equilibrium GDP
(4) It depends on other factors e | )
i ﬁ % i 535'7 w{yr i it iliniutE S %?{v
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97. The net export function is influenced by :
(1) Exchange rates and domestic income (2) Tax rates and government expenditure
(3) Interest rates and savings rate (4) Inflation rate and investment
g Frafd & S 8 ©
(1) fafmg g iR G IF a7 (2) FT # a¥ AT G =7 7
() =T T AR AW B (4) FEr o S R A

The Phillips curve depicts the relationship between :
(1) Government expenditure and fiscal deficit

(2) Inflation and interest rates

(3) Inflation and unemployment

(4) Investment and economic growth

fpfer a6 o & = Hay g9riarn @ ¢

(1) 9 99 AR TSN =91eT

(2) FaETEhIfa AR &1 &R

(3) FrrEhifer AR ST

(4) Fasr IR ST faemrd

In the long run, changes in the money supply primarily affect :
(1) The price level and inflation rate (2) Government expenditure

(3) Interest rates and investment levels (4) Output levels

e #, ga1 ATgfT H qREds WEfe 9 8 g e ©
(1) geg &T I Al & B (2) TRB @ hl
(3) =T g¥ oA fasr @Y A (4) STTITYE W B

. Which out of following is qualitative money control tool of central bank ?
(1) Open market operations (2) Bank rate
(3) Reserve requirements (4) Repo
FrifafEs & | a1 $59 d6 w1 e o9 e S § 7
(1) G AR FeErer (2) S &
- (3) R smgemmand (4) XA
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1. Underdeveloped Countries are characterized by

(1) High income levels and cutting-cdge infrastructure

(2) High levels of foreign investment and trade

(3) Balanced economic development and equal income distribution
(4) Low income levels and limited industrialization

sfaxfta 290t 1 A ah 2 -

(1) 328 59 w7 3T sy g g
(2) fa2sh P o & @ 3= w7

(3) "afer anféi faem ot qom s R
(4) =1 g v A A sl

2. FEconomic development involves :
(1) The increase in per capita income only
(2) The improvement in social indicators and well-being
(3) The creation of democratic institutions
(4) The embracing of free trade policics
s e & s 2
(1) #a= ufq aafer smg 7 gfe
(2) amiforn wdamt shr wend F gurw
(3) ehreparitaes d@ensdt &1 o
(4) qer agrary Aferdt @ g

3. The vicious circle of poverty refers to :
(1) The spread of poverty due to low educational levels
(2) The intergenerational diffusion of poverty
(3) The cycle of low income leading to low savings and investment
(4) The lack of access to credit and financial services for the poor
whdy 1 geEm H@eEfda wven B
(1) =1 Hftyr w7 3 mreor i & 9d@T A
(2) whd F sETAATAE 9HT )
(3) H9 AW F wE FH q9q e Ay A A T A
(4) it & fo ot st fasia Aanslt a% uga & B

: " P.T.O.
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L

tural transformation mainly refers to

Struc
to industry as the only main driver of economic
- Zrowth

(1) The shift from agriculture
(2) The process of urbanization

(3) The diversification of the economy and the development of new sectors
(4) The adoption of globalization

T REd gE w9 § HafHa B T
(Da#ﬁiﬁfaiﬁrﬂa\vqmﬂg@ama;ﬁ;mﬁ@ﬁamﬁ

(2) srEdiEeT ST e
(3)a¢éaaw$rﬁrﬁreﬂw@?qqﬁwm

(4) FEBIOT T FATYATAT

. The poverty trap refers to :

(1) The inabili
(2; Th: lnal;.lhty of the poor to escape poverty due to limited opportunities
o yclical na.ture of poverty in developed countries
= Thz c?:cent;atlon of wealth in the hands of a few individuals
effect of inflation on th i
i . e purchasing power of the poor
g)@fﬁﬁamﬁ%wmaﬁrrﬂ%ﬁ@aaﬁﬁamém
) fefea 2t 7 T @ = gl
(3) B ARKAT & AT H g9 FH Bl
(4) TOST A BT ARG IT FATEHIT BT A

. Balanced growt
growth theory suggests that economic development should focus on :

1) F i
22; D(_’C“S‘ﬂg resources in a few sectors only
versifyi . .
) Priorit'fy ng the economy across multiple sectors simultaneously
i .
zing agriculture over industrial development

. )
) Rely;:% on FDI for economic growth
F@%lﬁ: Rysia gemar 2 & afeeh

i b
Rt Tl
o % S A oreferaeen @ ARSI
i, i faz:m gz i apy s A

@ forn opdtand O forefe BT

Wﬁﬁmwm%ﬁ%ﬁm
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7. As per the Lewis' model, the "informal sector” refers to

(1) Industries which are not regulated by the government
(2) The rural activities

(3) Small-scale enterprises and self-employment

(4) Technologically advanced industries with high capital intensity
| Afsd B AR, ‘OFuEie &' @ oY B

(1) SEn s g & i 9@ @

(2) ot iR

(3) B WM™ & Iew A @A

(4) I= Yot e & are a9 A I JeA
According to Leibenstein, the critical minimum effort requircd for economic
development :

(1) Varies across different sectors and countries

(2) Can be achieved through foreign financial assistance only

(3) Requires high levels of government intervention
(4) Depends on the disposal of natural resources and raw materials

AT B AR, SN e & R saggd "eEyel S S
(l)ﬁrﬁ?ﬁaﬁ'{%ﬁﬂfﬁ?a‘m%

(2)WWWW%mm%mﬁﬁmmm%
(B)WW%mﬁmﬁqaﬁ'\mamﬁﬁm%
(4)q@ﬁmmwmmﬁﬁwqwﬁ#m%

9. The concept of "strategic sectors" in unbalanced growth theory refers to
(1) Sectors that have a comparative advantage in international trade
(2) Industries crucial for national security and defense
(3) Sectors with high potential for technological innovation
(4) The prioritization of specific sectors for government support and investment
m@ﬁwm@aﬁ'wﬁmaﬁ’aﬁmmmm%:
(1) XA & Foree stardsd s § garers @ @
(2) Tt geEr o e & oo gwm wewEqet @
(3) et qarE @ forg Fed el dre &
(Mmrﬂwmmaﬂ?ﬁ%m%f%mﬁﬁma%ﬁaﬁmaﬁm
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10. According to the critical minimum cffort thesis. economic development requires -

E g =

12

13.

14,

(I) Investment in physical capital and infrastructure

(2) Adequate levels of government expenditure and public services
(3) Efforts to improve human capital and education

(4) All of the above

FEEIN A S fRiE B SgER, e e % smavama B
(1) N it o ghrrdt i F Praw

(2) & 7 SR wESfE Qarei # qata w3

() AT g5 IR farem ¥ gur B wmrw

(4) IUAH gfi

If'EVERYTHING' is coded as 'GHENGRIVET', then how will you code "TREI:' 2

(1) RGNE (2) ENGR (3) NEGR (4) RNGE

afX 'EVERYTHING' & 'GHENGRIVET' & w7 & @ifeq fsar STar 8, ar 99
'TREE' & &q &Hig HIA ?

(1) RGNE (2) ENGR (3) NEGR (4) RNGE

In a given number 7943325913, we interchange the first and the seconq digits. the third
and the fourth digit and so on. Then which digit will be sixth from the right ?

(1) 2 {2) 3 3) 4 (4) 9 -

& &A1 7943325913 # &9 Usq SfX qEX 3k H 99 F g9 ,
Eﬁﬂ'{Tan a;ria“rmatﬁaﬁrsﬁmaqﬁmﬁa%ﬁ-mmma‘QW#W?
(1) 2 (2) 3 3) 4 4) 9

If' BORROW!' is coded as 589134. then how will you code ' BROW ?

(1) 5934 (2) 5493 (3) 4395 (4) 4935

gfe 'BORROW' &I 589134 & &U ¥ apifed fham smar B, @ s 'BROW' @
FQ Hfsa HA 7

(1) 5934 (2) 5493 (3) 4395 (4) 4935

If 'D5N19E' stands for 'DENSE and 'D1F20' stands for 'DAFT", then how will you code

'DECENT' ? 1
(1) DC5N205 (2) D20C5NS (3) D5C5N20 (4) DSS5C20N

gfe 'DSNI9E' @1 & 'DENSE' 3X 'DIF20' @& a1 DAFI" 8, & a1y
'DECENT' &l & HIfed B ? |
(1) DC5N205 (2) D20C5NS (3) D5C5N20 (4) D55C20N
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15.

16.

17.

18.

19.

20.

Choose the pair in which the words are differently related :

(1) MUSIC : ART (2) PEPPER : SALT

(3) FROWN : SMILE (4) MAN : CROWD
aagmgﬁﬁﬂaﬁsm&ww@rﬁéfﬁa%:

(1) & @ el (2) el FE - THE

(3) NE T : FEHUAl (4) EHT - AT

Choose the group of letters that is different from others :

(1) MLK (2) KJI (3) RQP (4) TSR
Sterdt @ 98 g9 g o o A e

(1) MLK (2) KJ1 (3) RQP (4) TSR

Find the value of Question Mark (?) :
gee Rrgd ()& H7H SRy G

D« 30~ 12822

(1) 46 (2) 78 (3) 42 (4) 75

A and B are brothers. C and D are sisters. A's son is D's brother. How is Brelatedto C ?
(1) Uncle (2) Grandfather

(3) Father (4) None of the above

Aa?lTBwé%maﬁ'{Daﬁ%lAmrgaDwmé%lB.céﬁmm
Heifee B 7

(1) =r=n (2) =T
(3) far (4) IR F & g AL

Paras walked 30 m towards east, took a left turn, and walked 20 m. He took a right tum
and walked 30 m. Then, he took right turn and stopped. He is now facing ? )

(1) North (2) East (3) South (4) West
qugiﬁaﬂrmﬂﬁaaar,arﬁg@aﬁtzotﬁaam\agaﬁgaeﬁ
30 ez = | Y, a8 1 o1 3N &% T 98 o §9E © 7

(1) I ) @ (3) =faror (4) af¥=H

The price of a commodity increases first by 30% and then decrease by 20%. What is
the net increase in the price ?

(1) 14% (2) 10%

(3) 4% (4) None of the above
ﬁ?&ﬂﬁiﬁ%%ﬁm%aﬁ%aﬂ?ﬁﬂzo%wﬁ%n@ﬁsﬁ
gfis 1 & ? -
(1) 14% (2) 10%

(3) 4% (4) ITAH 7 | HE TS
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21. When the Cross elasticity of demand is zero, the goods are :

(1) Substitutes (2) Perfect Substitutes
(3) Not related (4) Complementary
S P ) ST Ay g el B, a1 awgd el §

(1) ™= (2) ot T

(3) wefg =&t (4) T'%

22. Microeconomics primarily focuses on :
(1) The behavior of individual firms and industries
(2) The overall performance of the economy
(3) Government policies and regulations
(4) International trade and finance
geqrdane geg w9 9§ e X g e @ 7
(1) =afrma w7 T IER @1 FJEer
(2) FEHTE FH THT TE=
(3) | & Aifaar 9w s
(4) FAaUsfE =R AT A

23. Cardinal utility analysis suggests that :
(1) Utility can be measured and quantified numerically
(2) Utility is subjective and cannot be measured objectively
(3) Utility is determined solely by a consumer's income level
(4) Utility is not relevant in understanding consumer behavior
HifEer IuAfrar faeswor § gar goen 8 & -
(1) IyAfar #it dearss w9 § |97 3R e frar s oamar @
(2) IufiaT aaftpats B ol 39 Fo9el ©9 § 9&€t 7191 S gy ®
(3) ITANFEAT FBaer ITFH B AT @Y 9 FgiRg S ®
(4) 3UHARHT HAGER H AHA F IGAT qrEE 98 2
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24. 1f marginal utility of money is diminishing instead ol constant the amount ol consumer
surplus will :

(1) Increase (2) Decrease

(3) Remain same (4) Cannot be predicted

afX uw & i Sudfer e @ @ gong we W B, o gy sitaay @
ufdr erf

(1) @ (2) "

(3) "= @ (4) wifarsgarf =d @ o denedt

25. Consumer equilibrium occurs, when :
(1) Marginal utility is negative for all goods consumed
(2) Total utility is maximized given the consumer's budget constraint
(3) Marginal utility is equal for all goods consumed
(4) Total utility is equal to zero
IO W T A B, o
(1) ST & ¢ |t agedt & forg dmia swdfar somers B
(2) ITNRAT & ST H HH B @A Y H ST femaH B
(3) ST @t ¥ @ awgedt & fore dwia ST gue @
(4) T IURAET T B AT B

26. Marginal rate of substitution of two perfect substitute goods will be :
(1) Diminishing -
(2) Increasing
(3) Constant
(4) Initially increasing and later decreasing
A Tof TS awgelt @ e @ A e
(1) &7 arf
(2) sgh
(3) Rex @& h
@) o B A M

PG-EE- i
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27. 'The budget line represents .
(1) All possible combinations of goods a consumer can afford given their income and
the prices of the goods
(2) The trade-offs a consumer makes between leisure and work
(3) The relationship between price and quantity supplied for a specific goods
(4) The total income a consumer has after purchasing all desired goods and scrvices

FoTe T@T &9l § ¢

(1) 71t & |l dofad @ ST U SUNiiehl ofq= 379 3 AT &l hiHd]
F TEF HY Ghdl 8

(2) Ush Iusiehr gfaer o ®H & € AR HIET 2
(3) re fafare awg & for omyfel & 12 Fag ol AET & A ddy
(4) B3f aifesq awgedl ofk Faredt # @ies & aE Uk ITHRH! B HA A

28. Movements along the supply curve occur due to changes in :
(1) Preferences of consumers (2) Consumer's income and tastes
(3) Price of the goods being supplied  (4) Government policies
gfef @ ¥ Hew e H§ aRads & @ e g o
(1) IUARRIAT a1 arfEesan (2) IUARAT & AT T B
(3) ATgfet I ST W AEAT B HHA  (4) FEHR B AT

29. External economies of scale refer to :

(1) Cost savings from the growth and expansion of an individual firm
(2) Cost savings from the availability of cheap raw materials

(3) Cost savings from technological advancements in the production process
(4) Cost savings from the cooperation and coordination among firms in an industry

aE @ Sl Faetaar d@efifa e © o

(1) AfFa w5 & AeE v faw | . S=d

(2) O% FHed AT B ITAEA] T ARG T

(3) Icare Atk # aeheen W § N S=d

(4) T TENT & BT & G gegrr R gHd | Ar J=d

30. The law of variable proportions shows :

(1) Long run production function (2) Short run production function
(3) Short run cost function (4) Long run cost function
et starEt & e geriar @

(1) St Ieae wee (2) STeqrEfy I B

(3) STeqrafyy AT Here (4) SR AR B
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31. If the value of multiplier is 4, what will be the value of MPS and MPC ?
(1) .25 and .75 (2) .25 and .25 (3) .75 and .25 (4) .75 and .75
afe otk @1 7T 4 B, @ MPS X MPC &1 719 a1 &N ?
(1) 25371 .75 (2) .25 30X .25 (3) .75 3fX .25 (4) .75 AT .75

32. A rightward shift of the IS curve in the IS-LM model indicates -
(1) An increase in government spending (2) An increase in taxes

(3) An increase in the money supply (4) An increase in interest ratcs

IS-LM #Hied & IS g &1 &l o) Raggesar asrfar 2

(1) ¥ @d & gis (2) &I 7 gha
(3) T STYfd # ghex (4) =T =0 F gha
33. Hicks model of trade cycle is based on :
(1) Multiplier (2) Accelerator (3) Harrod Growth (4) All of the above

Y =6 HI ey dfsd Aaia ©
(1) To1% 9 (2) @ X (3) B0 My g¥  (4) ITA<H A

34. The Harrod-Domar growth model suggests that economic growth is dependent on :
(1) The rate of investment and the capital-output ratio
(2) Innovations

(3) Changes in education levels
(4) Government regulations

=-SHY A Afsd qmar @ % onfdes fawa firg ox sk ©
(1) Fraser &t eX 3R Yol-Sded STgard

(2) FAa=X

(3) farem & wx # ufEad=

(4) g FEH

35. The exchange rate regime in which the central bank allows the exchange rate to
fluctuate within a specified range is called :

(1) Managed float (2) Pegged rate of exchange

(3) Fixed rate of exchange (4) Crawling peg

g & s e 38 3% [ X &) @ A g 3 ofiax
IA-gerd H FFAMT AT 8, HET A © -

(1) wEifea e (2) g #r st T T

(3) fafsT = ™fdaa &% 4) foadt #e
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36. A trade surplus occurs, when :
(1) A country's imports surpass its exports
(2) A country's exports are more than its imports
(3) The balance of trade is zero
(4) There is no international trade at all
R FgdE g4 B B, J49
(1) fpet 2w 1 st sas Fafa § sifas 2 2
(2) fFeh 2 &1 Frata sad smad @ oifus B 2
(3) =T FITT g B
(4) g FafE s & 2

37. Purchasing power parity (PPP) theory suggests that exchange rates between countrics

should be based on :

(1) Relative levels of inflation

(2) Absolute levels of income

(3) Comparative advantage in production

(4) Relative interest rates

g gt e (Wd) fasia samar 2 &% 29 & g9 fAfam =27 = o0
aaifya B =nfey

(1) JeTedhifar & aE &
(2) 3G &/ GOt &
(3) IEE ® JeAras A
(4) |0E =TT 23

38. The Laffer curve illustrates the relationship between :
(1) Government spending and economic growth
(2) Tax rates and tax revenue
(3) Income inequality and tax
(4) Tax and public goods
%7 g st 3 A Hag Zetan B
(1) g7aTh @9 3w anfds s (2) &2 & 2% o &7 o
(3) FA™ IEATAT T BT (4) HT 3T grEItHE qH=E
PG-EE-June, 2023/(Economics)(SET-X)/(C)



39.

40.

41.

The concept of deadweight loss is associated with :

(1) Government subsidies (2) Tax evasion

(3) Public debt (4) None of above

e dE & FAFURON Hefad B -

(1) g FAgEE A (2) HT A |

(3) A FOT | (4) IUaw # A FE TE

Horizontal equity in taxation refers to :

(1) Taxing individuals not based on their ability to pay

(2) Treating individuals with different income levels in a similar manner
(3) Treating individuals with similar income levels equally

(4) Taxing individuals based on their consumption behaviors

FauE 7 afos s @& s @ o .

(1) =|fHAT 9T ITH IO HA H AT & T 9T HT A AT
(2) fafr=r s w3 g aftral & 9y @9 FJIET HAT

(3) GHM I WY a1 aAfHAl & HTY GHH HGETL HIAT

(4) =fpat 9T 3% ITART FHIBR H A 9T HT AT

The Economic Survey of India is prepared by :

(1) The Ministry of Finance

(2) The Reserve Bank of India

(3) The Planning Commission (now replaced by NITI Aayog)
(4) All of the above

| F e gdew fFES @ da B s ® 7
(1) = 53w

(2) W Rod &

(3) Ao AT (ora Ay sEm g afaeentae)
(4) I G+t

PG-EE-June, 2023/(Economics)(SET-X)/(C)
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42.

43.

44

e Indian economy has witnessed a shift from :
(1) Agriculture to industry and services

(2) Import substitution (o export-oriented growth
(3) Command economy to market-oriented reforms
(4) All of the above

sty selegaren # aeend @ 141 B

(1) &fa & Iapr sfie dand

(2) srrare gfererad 8 fafa-sga T

(3) HATUE HAdegeenn A AEIgE Gar

(4) FUH G4

The role of the public sector in the Indian economy includes :
(1) Providing Infrastructure for rich people

(2) Provision of non-essential services

(3) Promoting equitable growth and social welfare

(4) All of the above
mﬁmmdwa?mﬁmdwﬁm%ﬁﬁgﬁwﬁsm%:
(1) srdre antt & foo gfeard arar g=r BT

(2) he-amaema AT T AEE

(3) @wr fasra ol @rfors HedreT @ S S

(4) FqaH AN

FEconomic reforms in India have focused on :

(1) Liberalization, privatization and globalization
(2) Promoting foreign interference

(3) Enhancing in efficiency

(4) None of the above

qra #, A gerdt § e a7 o S B T R
(1) Farfemor, fAfemTer i aedrehoT
(2) faeh weaam @y dardr 20

(3) aetenr | gz

(4) F77+F | | FE TE

PG-EFE-June, 2023/(Economics)(SET-X)/(C)



45. Economic planning in India was characterized by :

(1) Five-year plans (2) Centralized taxation
(3) Wastage of resources (4) All of the above
9IRd # e e @l e e
(1) dga¥g A= (2) EATHA LT
(3) HaTeHT @ gy (4) IUAH Gl

46. The Gini coefficient is a measure of :
(1) Income inequality (2) Population growth rate
(3) Literacy rate (4) Poverty rate
R ToTieh @ A9 @
(1) T FAEHEAT FH (2) S gie av &)
(3) ETEIXAT I B (4) TheE &v

47. The concept of the "Population Pyramid" is used to study :
(1) Age-sex composition of the population
(2) Fertility and mortality rates
(3) Migration patterns
(4) All of the above
‘STHEET fUHe’ H1 @auren & 9EGrT e & sterae & oo fasr ot 2o
(1) S=EEar 1 Sg-foif d3=a-n
(2) o= gHaT AR Jg a7

(3) warEa Y
(4) IUAH Gl
48. The concept of "Human Development Index (HDI)" takes into account indicators such
as :
(1) Life expectancy (2) Education attainment
(3) Per capita income (4) All of the above
“gg fa@rE gaeie (HDI)” & s1aamen o S8 @hdedt &l &I wdl 2
(1) Sfa= s (2) farear st
(3) ufa =t o= | (4) Iudres Gt

PG-EE-June, 2023/(Economics)(SET-X)/(C) | P.T.O.
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49.

50.

o1.

52.

The Deendayal Antyodaya Yojana-National Urban Livelihoods Mission (DAY-
NULM) aims to alleviate poverty by focusing on :

(1) Rural employment generation

(2) Skill development in urban areas

(3) Housing for the homeless '

(4) Women empowerment in rural areas

A ey AE-USE el oftifawr  Her (W-W} o

(1) IrHET ISER Gord

(2) ered &= ® e ™

(3) ARG B @ 3ME™E

(4) Tror &1 F Afedr "aRhHTT

The Pradhan Mantri Mudra Yojana (PMMY) provides financial assistance 10
(1) Micro, small and medium enterprises (MSMEs)

(2) Farmers for agricultural development

(3) Students for higher education

(4) Individuals for affordable housing
W@@W(PMMY)%MH%WWWW%:
(1) g, BreT AR "o Iu (THUETRR)

() BN fFeE & e feas

(3) S=a A & Q5=

(4) FrmEd IEE & fae =R

What should be the missing value 450, 42, ....... ks 18, 10. 27

(1) 34 (2) 32 (3) 30 (4) 35
450, 42, .......... 26,18, 10,2 & g« A= @1 BT =BT 7

(1) 34 (2) 32 (3) 30 (4) 35
What should be the missing value 840, 168,42, 14, ........ gl

(9 (2} 7 (3) 6 (4) 10
840, 168,42, 14, ..., | § g A F1 &1 =feq ?

5 (2) 7 (3) 6 . 4) 10

PG-EE-June, 2023/(Economics)(SET-X)/(C)



53.

54.

55.

56.

57.

58.

What should come in the series of A. E. I LR L ?

{1)-¥ 2) W 3V 4) S

[ EE T R RN B @ {4 HET AR ?

(Y Q) W 3)V 4) S

Fill the missing value in the series ZKC, | 215 1 S WNF, VOG.

(1) XME (2) EMX (3) MEX (4) XEM

A A B i 1B i WNF, VOG JEdr § SR qI |

(1) XME (2) EMX (3) MEX (4) XEM

If"+" means |r/n’ Tk n means Il_hll’ u/n mCﬁnS u_f_n‘ a.[ld n_n means n*u~ thcn 16/8*6 = 2 = ]’) ‘?

-

(1) 23 (2) 24 (3) 17 (4) 18
qﬁ nyn G \3:[?& u/u, Mk Fr \3:]'2? n_n- oy Bl a:r?j- n_!_n} Gﬁ—( n_n FT (-FrEf NN %, (_‘ﬁ
16/8*6 -2+ 12=19

(1) 23 () 24 @) 17 (4) 18

A man covers 40 km in 2% hours. Find the distance covered in 10 hours :

(1) 150 km (2) 140 km (3) 160 km (4) 120 km

Th SARH 2%, € F 40 ol a9 @ ¥ 10 62 & 79 @ 7 g 9 Hfg -
(1) 150 fep (2) 140 e (3) 160 ferefy (4) 120 fper

X's income is 80% of Y's. Y's income is 60% of Z's income. If Z's income is Rs. 1,00.000.
then what is X's income ?

(1) Rs. 48,000 (2) Rs. 45,000 (3) Rs. 42,000 (4) Rs. 40,000

X & A— Y & T F 80% BI Y B T Z F O FH 60% T AR 7
T 1,00,000 o B, @ X FH HAF w1 2 ?

(1) 48,000 B0 (2) 45,000 B0 (3) 42,000 B0 (4) 40,000 B0

Rohit sold his old bike and earned a profit of 20%. If he could have managed to sell it

for Rs. 10,000 more, then his profit would have been be 40%. Find the price at which
he bought the bike ?

(1) Rs. 50,000 (2) Rs. 40,000 (3) Rs. 45,000 (4) Rs. 55,000

AT T T RN armeb AN o) 20% H @ HEET) AR qE T/ 10,000 o

AMH F AT g, Y IqHT AW 40% DT g8 FET T FE e w S5
9136 @aar off ?

(1) 50,00080  (2) 40,0000  (3) 4500050  (4) 55.000 o

PG-EE-June, 2023/(Economics)(SET-X)/(C) - P.T.O.
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§9. A man ook a loan from a hank at the rate of 10% p.a. simple interest. Afler two years.
he had to pay Rs. 2,500 interest only for the period. The principal amount horrowed by
him was
(1) Rs. 10,500 (2) Rs. 11,000 (3) Rs. 12,500 (4) Rs. 13,000 |
o et A o @ wWEIOT e T 0% ufar ad @1 =7 8 fera | 1
ad am IQ 39 aEia & fau dae 2500 o A o AT %11 3HE AT
Iure @ ¢ ga afar o4
1) 1050080  (2) 1,00080  (3) 1250050 (4) 13,00059

60. The average monthly income of A and B is Rs. 4,000, The average monthly incnmg.n!'
B and C is Rs. 7.250 and the average monthly income of A and C is Rs. 5.200. [he
monthly income of A is :

(1) Rs. 1,950 (2) Rs. 1,850 (3) Rs. 1,750 (4) Rs. 2,150

A 3t B # oEa mifEE @ 4000 o B1 B o C A sfea \ifEEs A1
7250 Fo B 3T A 3fr C # hwa wifEs A= 5,200 o 21 A # HTEAS AT
2

(1) 1,950 $o (2) 1,850 Fo (3) 1,750 ®o (4) 2,150 o

61. The National Rural Livelihoods Mission (NRI.M) was launched in which year ?

(1) 2005 (2) 2009
(3) 2013 (4) 2016
m&ﬂﬂmﬁﬂmfﬁm(@m@)%ﬂaﬁsﬁmwm?
(1) 2005 (2) 2009
(3) 2013 (4) 2016

62. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) was
implemented in which year ?

(1) 2005 (2) 2008 (3) 2010 (4) 2012
qETe A T arrer Aeeme e sfafree (wem) e ad s e
o ? |
(1) 2005 (2) 2008 (3) 2010 (4) 2012
63. The National Skill Development Mission was launched in which year ?
(1) 2008 (2) 2010 (3) 2014 (4) 2016
et Hrere e meE e ad g B o 7
(1) 2008 (2) 2010 (3) 2014 (4) 2016

PG-EE-June, 2023/(Economics)(SET-X)/(C)
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64.

65.

17
I'he Rashtriya Swasthya Bima Yojana (RSBY) provides health insurance coverage 1o ;
(1) Rural houscholds below the poverty line
(2) Urban unemployed individuals
(3) Government employees
(4) Self-employed professionals
T @ dm1 AT (RSBY) Fey Y w@men 4y st waq et
() T @ & ™ & apfior ofrar
(2) rEdl AV Afew
(3) & HHAETH
(4) @-Fafea A9az
Recent trends in agricultural development in India show a deceleration in :
(1) Crop yield per hectare (2) Agricultural exports
(3) Millet production (4) Irrigated land area
R ¥ H e @ enerEn waft & nd R 2 @
(1) 9fy a9y wad &1 Ig (2) Fy fFata
(3) I IATEH (4) fefea 9ff &=
In recent years, the government has introduced schemes such as :

(1) Pradhan Mantri Fasal Bima Yojana (PMFBY)

(2) Pradhan Mantri Kisan Samman Nidhi (PM-KISAN)

(3) Rashtriya Krishi Vikas Yojana (RKVY)

(4) All of the above

B & aul H, #vhr A e ave & aneend 9@ @ g
(1) gar=e=h wae & domr (doawa)

(2) sar=h A = iy (dog-feam)

(3) T P R Ao (AT

(4) 390 A

PG-EE-June, 2023/(Economics)(SET-X)/(C) P.T.O.
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67. The concept of "Inclusive Development” emphasizes :
(1) Reducing regional disparities in development
(2) Ensuring equitable access (0 foreign trips
(3) Promoting entertainment
(4) None of the above
‘wﬁsﬁmm’ﬁaﬁwnﬁwwaaa—cﬁ%:
(1) frpre & afrg srEmTaredt & FH HT
(2) fer aEnedt & R @9F 9gd gHfeEd BT
(3) "R H FEET A1
(4) ITA<H F F HZ T

68. According to the Periodic Labour Force Survey (PLFS) 2019-20. the unemployment
rate in India was approximately closer to :

| (1) 3% (2) 5% (3) 7% (4) 9%

et om g« gaeer (dieaasued) 2019-20%W,Wﬁ§l'w 7
| T FHOS 47 ¢

(1) 3% (2) 5% (3) 7% (4) 9%

69. The Stand-Up India scheme promotes entreprencurship among :
' (1) Scheduled Castes (SCs) and Scheduled Tribes (STs)
| (2) Women entrepreneurs
| (3) Minority communities
(4) All of the above
Se-a1q AT AT SadeiieT H FeEl adl B

(1) srafaa sy (Tae) o) erggfaa senfa (Ted)

| (2) wfear I
| (3) FeTEEAF THEH
} (4) Sqh At
! 70. The concept of sustainable agriculture emphasizes :
(1) Modern farming practices (2) -Exploitation of natural resources
(3) Diversification of crops (4) None of the above
areoftr e A sEareen fFE o7 a9 AT R 7
(1) smgfe B asfar (2) STHfereh TETEET P Ared
(3) wEAT @1 At (4) IGAH F § P FET

PG-EE-June, 2023/(Economics)(SET-X)/(C)




71.

72.

73.

PG-EE-June, 2023/(Economics)(SET-X)/(C)
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Real income 18 :

(1) The total income earned by a household in a specific period

(2) The income adjusted for inflation to reflect changes in purchasing power
(3) The income after deducting taxes and other deductions

(4) The income derived from investments and financial assets

R Y 8 ¢
(1) o ARwe afy § o aREr & Af| ga ™

(2) g otk ¥ qReadw @ qu B g gEefy & e aEac s
(3) HA AR A Hladl H Hed & q& H AT

(4) e IR faig Hufr @ ara o™

Limitations of the GDP concept include all except :

(1) Exclusion of non-market production

(2) Failure to account for income distribution among different groups

(3) Neglecting environmental and social costs

(4) Income of households and firms

el T I B Igeen H gered F e & faara @i wine 2
(1) IR-I=IR IQEH T AE=hIOT

(2) faftr= aEt & = oy faaRer & o @ & e

(3) gataTer 3N AHINTH TRTGAT Bl IUST HIAT

(4) ®3F X HHA H FH

The expenditure approach to measuring national income focuses on :
(1) Summing up the value-added at each stage of production

(2) Adding up all the spending by houscholds, firms, government and net exports
(3) Calculating the total income earned by individuals

(4) Estimating the value of all final goods and services produced in the economy
T T & Haw & [ =g gftesor fFa ) S B ?

(1) SUET & 9@ =0T § SI2 T g B a7

(2) ufRErdl, ®6], T@R & aft @=Et B e R g

(3) =Pl B RTT HF ST @ TIET I

(4) sfeae § S w9 ol axgelt ofk dael B Tew @ oTE
ST

A by 5 3
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74. The marginal propensity to save (MPS) is defined as :
(1) The change in saving divided by the change in disposable income
(2) The change in investment divided by the change in national income
(3) The change in savings divided by the change in aggregate expenditure
(4) The change in savings divided by the change in investments
T S=a-sa™ (MPS) & e & & oftenfv fean wn @
(1) 999 7 aRec=/masg o § gRads
(2) MRAY ¥ aRadwRsTT o § afads
(3) Suw ¥ oRadwgs = & qRead
@) 99 7 sRad=/fRe § oieds

75. Potential GDP represents :

(1) The level of output an e€conomy can produce in the short run

(2) The maximum level of output an economy can produce in the long run

(3) The total value of investment expenditure in an economy

(4) The maximum level of government spending in an economy

G9ifaa GDP =sifar ® -

(1) ST A «RX Th el ety § Sae #v g6y 2
(2)Wwaﬁmwwmﬁwﬁwwm%
(3)%5Eﬁaﬁmawﬁﬁ%mmaﬂaﬁ3@

(4) Fre orferaen & SX @ @1 sy wx

76. The impact of an increase in taxes on equilibrium GDP is :

(1) It increases equilibrium GDP

(2) It decreases equilibrium GDP

(3) It has no impact on equilibrium GDP

(4) It depends on other factors
wﬁﬁqﬁaaﬁrﬁga?waﬁmwm%:
(1) 98 Sge SiEd @ Tgmr &

(2) & |9 SIS B &9 Frar D

) §gFT G X 9E B g T8

(4) T8 T FRFH )} i Hxar @

PG-EE-June, 2023/(Economics)(SET-X)/(C)




77. The net export function is influenced by :
(1) Exchange rates and domestic income
(2) Tax rates and government expenditure
(3) Interest rates and savings rate
(4) Inflation rate and investment
& P dad SifEd B @
(1) faffra & oIk R 9 &)
(2) HT B X AR &R T &
(3) =T &X 3} 9¥9d & R
(4) gETERIfT 2T SR fFasr @

78. The Phillips curve depicts the relationship between :
(1) Government expenditure and fiscal deficit
(2) Inflation and interest rates
(3) Inflation and unemployment
(4) Investment and economic growth

fepfere a6 e & 9 Gy 9T ©
(1) Epr =g 3T ASThINE "Il

(2) gETERIfT SR =T X

(3) FETERIfT AR AASH

4) PR X ol frewr

79. In the long run, changes in the money supply primarily affect :
(1) The price level and inflation rate
(2) Government expenditure
(3) Interest rates and investment levels
(4) Output levels

qrefpre ®, gar gRt & qRads grafye w9 & gwfae war ¥

(1) o @R 3R gErehifer & &t
(2) g @ &

(3) == 2 AR FRer @Y @
(4) A¥TYE wWX H
PG-EE-June, 2023/(Economics)(SET-X)/(C)
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80. Which out of following is qualitative money control tool of central bank ?

(1) Open market operations (2) Bank rate

(3) Reserve requirements (4) Repo

Srmfa & A A 390 &% B OIEH o PR ST €
(1) G IR | (2) ¥H =X

(3) R Smasasan (4) Q0

81. Marginal revenue is the change in :
(1) Total revenue resulting from a one-unit change in cost
(2) Total revenue resulting from a one-unit change in sales
(3) Average revenue resulting from a one-unit change in output
(4) Total cost resulting from a one-unit change in output
e e aREdd @
(1) e ¥ T s aRady @ IReTHEE B AT
2) el ¥ wp FHE aREdd B AROTTEET B T 3
(3)awﬁ@—mqﬁaﬁ3%qﬁvmw@wm
(4)wﬁw—mm%mww

82. Long-period costs are those costs that :
(1) Can be adjusted in the long run to adapt to changes in production levels
(2) Remain fixed regardless of changes in production levels
(3) Are incurred only in the short run
(4) Are not relevant to the analysis of production costs

S AT J A § ST

(I)Wmﬁﬁqﬁaﬁ%waﬁ%ﬁﬂaﬁwﬁmﬁﬁm
ST |l B

(%W%ﬁﬁﬁqﬁﬁ?aﬁmmmﬁmw
(3)%333-1?(413%9?@%?1%5'26“%%
(4) SEET T & ey & g St 8@ ¥

PG-EE-June, 2023/(Economics)(SET-X)/(C)
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83. Break-even point occurs, when :
(1) Total revenue equals total cost (2) Total revenue outstrips total cost
(3) Total cost surpasses total revenue  (4) The firm is operating at a loss
aa-faedy ﬁg aq e %, oq
(1) B T T aFd & aEt B (2) FA T FA A A Afas 2
(3) &N T HE TowE § AgH B (4) T AR F = @2

84. The modern theory of costs emphasizes the importance of :
(1) Technological advancements in reducing production costs
(2) Government regulations on cost management
(3) Reserve capacity
(4) Social and environmental costs
AT @ Syl fawmia fFEd "aee ¥ &« A 8 7
(1) 3rEA AR H HH FHIA H dheilehl T
(2) @ FEgA 9T g e
(3) i eraT
(4) gt 3T g@Eeeia e

85. In the short run, a monopoly firm maximizes its profit by producing at the level,
where :
(1) Marginal cost equals marginal revenue
(2) Average total cost is at its minimum point
(3) Price equals marginal cost
(4) Price exceeds average total cost
FAqH #, UF UHIUEH B IE WX 9T IAEA Hh AT AH FH AR
FIN B, 78T ¢
(1) dreia @mr e e & aE] 2
(2) Sirea e an F9 g g 9 R
(3) Fraa dwia arE & aoET adt @
(4) Fma faa F@ A 8 e 2

86. Which model gives stable solution ?

(1) Cournot's model (2) Bertrand's model

(3) Both (4) None

rp.ay Atee Ray @ETEE 2 # 7

(1) #ré=T & s (2) v H Al
(3) x4t (4) #E TE

PG"EE-June, 2023/(EconomiCS)(SET-X)/(C) P.T.C.
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87.

88.

89.

Price rigidity in oligopoly refers to :

(1) The inability of firms to change their prices frequently

(2) The fixed prices set by the government

(3) The collusion among businesses to keep prices at a constant level
(4) The price refinement practices in oligopolistic markets

AR F g &weeel # aredd 8

(1) ®At &t I P B GE-G7 FEe 7 AGHT

(2) "R B Faia g

(3) Pl @ ReX WX o @A & oo sggaE & 4 e
(4) STeufeEprdl =R H gog oige g4d

The Coase theorem suggests that :

(1) Market participants can negotiate and reach efficient outcomes in the presence of
externalities

(2) Government interference is always necessary to address market failures

(3) Monopolies are inherently efficient but still should be abolished

(4) Transaction costs are the primary cause of market failures

HE THT G IqT Tl & F

(1) =X Fedrfl 9w gha & 3 deaisd &1 IufRgfa # gt
gReTHt T 9 dad ©

(2) g%a’% fapearedl 1 X w & f6u SRl sWEY AT AEedE

(3) TR @I &9 § FHIel & oAb 6T 1 37 99 e famr
ey

(4) -9 HI AT AN Dl AHAATAT H1 qrafHep HROT B

The modern theory of rent suggests that rent is determined by :
(1) The scarcity of a factor in relation to its demand

(2) The negotiating power of factor owners

(3) The price elasticity of demand for the land

(4) The government's land-use policies

T B oyl Rssid gEar @ b e iR e ®
(1) 36 AFT & HET F TH HRH Dl B A

(2) HH ARt @ IEHET H a6 4

(3) af & |AFT A HET dA=T _

(4) | W 9y IugE Aifat |9

PG-EE-June, 2023/(Economics)(SET-X)/(C)




90. Theorics of interest include :
(1) Classical theory and Keynesian theory
(2) Loanable funds theory and liquidity preference theory

(3) Fisher's theory and Marxian theory
ominal interest and real interest theory

(2)%@%&%@1’3
(3)&53ﬁﬁm@’iﬁaﬁrmﬁﬁaﬁ?m@ﬁ
(4)Wﬁwwﬁaﬁrmﬁﬁwwm@fﬁ

91. Environment is ¢O
(1) Only affluent individuals

(2) Environmental preservati

(3) Environmental degradation is main
ues are more preval

qr1 ST 8, it

aic wEtaeefa gfaansd
ﬂ%’taﬂﬂ&aﬂﬂé‘ﬁﬁ%

can-afford to enjoy naturc an
on requires si gnificant financial investmce

ly associated with poverty
ent in developed countries

nts

(4) Environmental iss
qataRer @ e
(1) @ae da=t s & T
(2) gFtazeT HET & fora Hemyel fasia

(B)Wﬂﬁaﬁmﬁag@wﬁnﬁﬁ@ﬁ%
(4)W%ﬁﬁqﬂhtﬂﬂﬁg%a¢fﬁzﬁqaﬁ;ﬂ%

_environment linkage mainly refers to :
environmental degradation

lations and the natural environment

92. The population
(1) The impact of population growth on

(2) The interaction between human popu

(3) The role of environmental policies in controlling population growth

(4) The relationship between population density and economic development
mﬁw—mﬂﬂdﬂg@wﬁﬁzﬁﬁm%:

(1) Tgtaer &Tor 9% sEET gha &l 99

(Z)Wmeﬁmm%eﬁﬂwm
(3)waﬁ@rqﬁ5a€rﬁrﬁﬁlﬁwﬁﬁwiam:ﬂ%ﬁﬁ@w

(4)mﬁmmaﬁraﬁ§$ﬁa€m%aﬁaﬁdu

PG-EE-June, 2023/(Economics)(SET-X)/(C)
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93.

94.

95.

Features of the environment as a public goods include :

(1) Rivalry and excludability

(2) Non-rivalry and non-excludability

(3) Rivalry and non-excludability

(4) Non-rivalry and excludability
Hﬁﬁﬁiﬁa@%wﬁmaﬁﬁﬁwﬁﬁwﬁm%:
(1) sfrEfEan ol sfeshioT

(2) Ir-sfrfaar ol Ax-afEspT

(3) wftafaar ok Ax-wfespe

(4) Hx-wfrefaar ok afeshe

The components of the environment include :

(1) Natural resources, ecosystems and biodiversity

(2) Infrastructure, population, technology and capital
(3) Education and healthcare

(4) Government policies and regulations

qotaRer & wesd § faa &
(l)wﬁmw,mﬁﬁaﬁﬁa‘aaﬁ'{%%ﬁrw
(2) ST T, ST, et A gofl
(3) farem ofX w@reR &

(4) GTH @ Al v fFram

Environmental economics addresses the issue of externalities. which refers to :

(1) The positive special effects of economic activities on the environment

(2) The unintended costs or benefits imposed on third parties by economic activities
(3) The thoughtful actions of individuals to protect the environment

(4) The impact of population growth on environmental resources
Wmmﬁ%g&aﬁmﬁ%m%ﬁw&hm%:
(1) qaEer g el fafafedt & geRrers A g
(Z)WWWWWWWWW@{HWmW

(3) wAtaTer @ wn B fu st $ e s

(4) wafaToia waTeEl O SEeEr giE dr g
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96. Environmental valuation techniques are used to :
(1) Assign a monetary value to environmental goods and services
(2) Measure the social importance of the environment
(3) Measure the cultural importance of the environment
(4) Predict future environmental trends and challenges
qaiaRei g it &1 gAnT faar Siar @
(1) wateoly aegalt X damek & fw wh Afd g0 M H3 F
(2) gafaRer & @IS q8d S qra= A7
(3) TR & Fipos 7o B AGA H
(4) sy 1 wataeotg sgitwt ol gARE! @ wfsarh S 3

97. Environmental legislations in India include :
(1) The Water (Prevention and Control of Pollution) Act
(2) The Air (Prevention and Control of Pollution) Act
(3) The Environment Protection Act
(4) All of the above
aqreq & wgtEwer HeAr # e ¥
(1) it (srgror 31 Teard 3 FEse) sHfatd
(2)@(@@%%@?%)@%@
(3) qatETer Heaer AfafE
(4) I9TH GA

98. Sustainable development requires the integration of :
(1) Economic development, social equity and environmental protection
(2) Technological progresses and innovation
(3) Global cooperation
(4) All of the above
WW%WW%W#WWWL
(1) aﬁww,nmﬂmﬂmathmmm
(2) wEAvE g AT AATAT
(3) Hfemw AENT
(4) FATVH, 744

PG-EE-June, 023/(Faonomics WBET-X)(C) P. T. O.
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99. FEnvironmental impact assessments are conducted to -

(1) Lvaluate the potential cnvironmental consequences of proposed development
projects

(2) Evaluate the ecological value of protected arcas

(3) Monitor pollution levels in industrial zones

(4) Implement sustainable waste management practices

Ao g w1 s g e 2o

(1) wearfaa @@ afrdsrnegt 3 dafaq gatardfm afromst & gegiea & fao
(2) w@fere a=t & wfvfeafas geg 1 gegima 2 oo

(3) shenfes &=t & gguor & w7 & e & fam

(4) ¥ar srafors geaq ganst &) @v) &7 & o

100. The causes of environmental pollution include :
(1) Emission of pollutants from factorics and vehicles
(2) Improper waste disposal
(3) Agricultural activities involving use of pesticides
(4) All of the above
qatgTeT HEHOT % FHION H omiEe #
(1) FHFEEAT A7 FGEAt J UguH H IeT44
(2) sgfaa i o=
(3) FrzmeEt B I A Sd P et
(4) 3T0H GH1
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1.

The National Rural Livelihoods Mission (NRI,M) was launched in which year ?

(1) 2005 (2) 2009
(3) 2013 (4) 2016
ey anfror srofaer e (oeamoens) fee ad g fear mar an 7
(1) 2005 (2) 2009
(3) 2013 (4) 2016

The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) was
implemented in which year ?

(1) 2005 (2) 2008

(3) 2010 (4) 2012

e e g arder dorm med sfefrae (weem) e ad am fEwEr
|

(1) 2005 (2) 2008

(3) 2010 (4) 2012

The National Skill Development Mission was launched in which ycar ?
(1) 2008 (2) 2010

(3) 2014 (4) 2016

et et famra e fmE ad g fEr T e e

(1) 2008 (2) 2010

(3) 2014 (4) 2016

The Rashtriya Swasthya Bima Yojana (RSBY) provides health insurance coverage 1o :
(1) Rural households below the poverty line

(2) Urban unemployed individuals

(3) Government employees

(4) Self-employed professionals
WWWW(RSBY)WEQWWWWW%:
(1) et Y@ & F3 & AT En

(2) gr&Esl AT &Afh

(3) ETHr HHETd

(4) wa-Frafor agaT
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5. Recent trends in agricultural development in India show a deceleration in :
(1) Crop yield per hectare (2) Agricultural exports
(3) Millet production (4) Irrigated land area
Wﬁ%ﬁﬁmiﬁmmﬁﬁﬁﬁ@éﬁﬁi
(1) sfr 3T BEw @ Iu (2) Ffa Fa
(3) TERT JeTEA (4) Feifer s &=

6. Inrecent years, the government has introduced schemes such as :
(1) Pradhan Mantri Fasal Bima Yojana (PMFBY)
(2) Pradhan Mantri Kisan Samman Nidhi (PM-KISAN)
(3) Rashtriya Krishi Vikas Yojana (RKVY)
(4) All of the above
| B a9l F, g I e awe & Ao gE @l
(1) SN wEer ST AT (feAawEETs)
(2) sarEE e ae S (dea-feae)
(3) TEE F FprE AT (ARBAE)
(4) I9UH gl

7. The concept of "Inclusive Development" emphasizes :
(1) Reducing regional disparities in development
(2) Ensuring equitable access to foreign trips
(3) Promoting entertainment
(4) None of the above
gEefl R’ @ Sfauren B 97 & A ¥
(1) fapra & &= ST & ®H HEAT
(2) foRer aEneRt & forg a9 uga gRfREa &
(3) ST @ Fgrar AT
(4) IUA<H F q HIZ AB

8. According to the Periodic Labour Force Survey (PLFS) 2019-20, the unemployment
rate in India was approximately closer to : ' -

(1) 3% (2) 5% (3) 7% 4) 9%

FAafeed o9 S gaEer (foaesed) 201920 & STHER, 9T § s
T HOF oA ’ & A
(1) 3% (2) 5% (3) 7% (4) 9%

PG-EE-June, 2023/(Economics)(SET-X)/(D)



9. The Stand-Up India scheme promotes entrepreneurship among :
(1) Scheduled Castes (SCs) and Scheduled Tribes (STs)
(2) Women entrepreneurs
(3) Minority communities
(4) All of the above
De-a7q g Qo Jgmiadr H ggEr adl ©
(1) srafa i (cad) o srggfem sk (Ted)
(2) AfEsT I
(3) FITqEEAF TYIE
(4) IT0=h 9

10. The concept of sustainable agriculturc emphasizes :
(1) Modern farming practices
(2) Exploitation of natural resources
(3) Diversification of crops
(4) None of the above
grofrg H i e/EEeT R 9T S A R 7
(1) sgfyes FHa gaiaE
(2) wiHfas damal B BT
(3) wEat @1 fafadneT
(4) 3T9=F # | F3 TR

11. Environment is considered a luxury, because :
(1) Only affluent individuals can afford to enjoy nature and environmental amenities

(2) Environmental preservation requires significant financial investments

(3) Environmental degradation is mainly associated with poverty
(4) Environmental issues are more prevalent in developed countries

ggtazer F Fentaar gFT Sar 8, e

(1) Faer du=1 afer & gga A ggiaveim giaeamsd &1 g ST dhd ©
(2) gatETeT EYE©r & foq Hedyel foeia FRe @ eTasgear el 8

(3) wHfarei™ e ger &9 & i€ § 21 8

(4) Tamtaa 29t & gafgeeim g8 eifas gafed &

PG-EE-June, 2023/(Economics)(SET-X)/(D) B, .6
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13.

14.

The population-environment linkage mainly refers 1o

(1) The impact of population growth on environmental degradation

(2) ‘The interaction between human populations and the natural environment
(3) The role of environmental policies in controlling population growth

(4) "T'he relationship between population density and economic development
srerefe-qataTor dein g w @ dafd B

(1) gaiEor 7o) gy SAdEr gl w1 A
(2)nmaamﬁahq@fﬁmammvr%marmﬁﬁm
(.?)ﬂﬂmmﬁmﬁﬁ%ﬁﬂqﬁmmﬂaﬁw

(4) STEEAr T afT anfde fawra & &= @99

Features of the environment as a public goods include :

(1) Rivalry and excludability

(2) Non-rivalry and non-excludability

(3) Rivalry and non-excludability

(4) Non-rivalry and excludability

e ae] & w0 atawer @ et & e ¥
(1) ufergfaen ofir afewrror

(2) He-vferafaen of -afeepn

(3) wferEfaen ot Ae-afeger

(4) re-ufergfaar ofrr afeshor

The components of the environment include :

(1) Natural resources, ccosystems and biodiversity

(2) Infrastructure, population, technology and capital
(3) Education and healthcare

(4) Government policies and regulations

uatgeer & wedt & amfae #

(1) vrpferes erames, afiftafas &= T S fAfgaa
(2) STy GTET, S, Wente S gEh
(3) forem ofx w@reen Fen

(4) |TaR #H Nt ofw =
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15. Environmental economics addresses the issue of externalities, which refers to :
(1) The positive special effects of economic activities on the environment
(2) The unintended costs or benefits imposed on third parties by economic activities
(3) The thoughtful actions of individuals to protect the environment
(4) The impact of population growth on environmental resources
TAfERel srelees arerrel & HR A wAfed A B, St wafdd e @ o
(1) wafazer v onfefes wfafafeal & aewrees fadw wwe
(2) anfede wfefafedt arr fraX ger 9v @Fme T oA ANT AT AT
(3) gataer # N & fou afwat & farsfa w@e
(4) ggiaroim dare=t ov SHEE g & 99|

16. Environmental valuation techniques are used to :
(1) Assign a monetary value to environmental goods and services
(2) Measure the social importance of the environment
(3) Measure the cultural importance of the environment
(4) Predict future environmental trends and challenges
qatgeiE gedie deheht &1 AT fHar s ®
(1) qafaia aegell ofx famslt & fiw s AeE Twa Mk &3 A
(2) 9IgorT & AHISTHE A @ A9 H
(3) TATETeT B HiTpaH Hed H HAIA o
(4) wfEeT % gEtaeeiT gafE ol gARET @ wRsEh H

17. Environmental legislations in India include :
(1) The Water (Prevention and Control of Pollution) Act
(2) The Air (Prevention and Control of Pollution) Act
(3) The Environment Protection Act
(4) All of the above
AT # 9FiEer HraAr § i g
(1) STt (9597 & Apamd 3T Forn) st
(2) arg (vgwoT H JepeH A Fson) srfufran
(3) gateer Heeor arfafaas
(4) S0 G

PG-EE-June, 2023/(Economics)(SET-X)/(D) P.T.O.



18. Sustainable development requires the integration of
(1) Economic development, social equity and environmental protection
(2) Technological progresscs and innovation
(3) Global cooperation
(4) All of the above
WW%WW%W? AATIFAT P
(1) ot faepra, araifsT® JAAT S qatETer A7A
(2) T At 3 FarE
(3) Afvaw F=am
(4) IaT=H FA

19. Environmental impact assessments arc conducted 1o :

(1) Evaluate the potential environmental consequences of proposed development
projects

(2) Evaluate the ecological value of protected areas

(3) Monitor pollution levels in industrial zones

(4) Implement sustainable waste management practices
qEfERe e F AR AT S o

(2) EXfea ast 3 aiRfafs 979 &1 geaiET & o
() At A A wgEer & @ e & fom
(4) T STafarse wEER SETS B AR FA & o

20. The causes of environmental pollution include :
(1) Emission of pollutants from factories and vehicles
(2) Improper waste disposal

(3) Agricultural activities involving use of pesticides
(4) All of the above

qgtaReT 9gEU B HAOH H enAe #
(1) @t 3T aredt @ JgEH B I
(2) srgfaa aruiaree fFoes

(3) FieeEHt & I F JI A Aafatest
(4) 3UU=H qft
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21.

22.

23.

24.

25.

26.

27.

What should be the missing value 450, 42, ....... 320, 18.10.27

(1) 34 {2y 32 (3) 30 (4) 35
450,42, cusuienes 26,18,10,2 § g« d &1 M1 @R ?

(1) 34 (2) 32 (3) 30 (4) 35
What should be the missing value 840, 168, 42, 14, ........ +17F

(1) 9 2) 7 (3) 6 4) 10
840, 168,42, 14, ........ , 1% g9 "9 @& 8 e ?

(9 (2) 7 (3) 6 (4) 10
What should come in the series of A, E, J, P, ............. 7

(Y (2) W 3)V (4) S
AE 1P, ... B Yo & F STHT AR ?

1y 2) W 3)V 4) S
Fill the missing value in the series ZKC, YLD, ............ WNF, VOG.
(1) XME (2) EMX (3) MEX (4) XEM
ZKC, YLD, ............ WNF, VOG 9@t d g« A9 4% |

(1) XME (2) EMX (3) MEX (4) XEM

If II+H InCaI].S ll/", UE 2l means "_ll, Il/l! meanS ll+l|’ and ll_!l means "*IT’ then ]6/8*6 T 2 + ]2 — ?
(1) 23 (2) 24 3) 17 o (4) 18

q% "' ZHT \3:[& u/n, "N BT \:Hé ll_fl, wm T qu-j- |1+n, a?'—{- n_" ot G:Ri- nkn %’ (—_"ﬁ-
16/8%6 -2+ 12=7

(1) 23 (2) 24 (3) 17 (4) 18

A man covers 40 km in 2% hours. Find the distance covered in 10 hours :

(1) 150 km (2) 140 km (3) 160 km (4) 120 km

T A 2) "2 H 40 PR g7 wxar 21 10 He F 97 @ 7 g s A ¢
(1) 150 fapst (2) 140 f=T (3) 160 fepH (4) 120 e

X's income is 80% of Y's. Y's income is 60% of Z's income. If Z's income is Rs. 1,00,000,
then what is X's income ?

(1) Rs. 48,000 (2) Rs. 45,000 (3) Rs. 42,000 (4) Rs. 40,000

X &l AT Y H T H 80% 1Y H 3T Z FH AT &H 60% 2| IR Z P
3 1,00,00060 B, @1 X @& 37T T B ?

(1) 48,0000  (2) 4500050  (3) 42,00050  (4) 40, 000 To

PG-EE-June, 2023/(Economics)(SET-X)/(D) P EO.
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ould have managed 1o sell 1l

£f20%. Ithec :
0%. Find the pricc at which

and earned a profit 0
been be 4

28. Rohit sold his old bike
rofit would have

for Rs. 10,000 more, then his p
he bought the bike 7

(1) Rs. 50,000 (2) Rs. 40,000 (3) Rs. 45,000
Ao 7 s g A A4 A7 20% F1 TH
sferr & a7 uren, o gom wra 40% ZE | a2
arzer @A A1 7

(1) 50,000 %o (2) 40,000 %0

(4) Rs. 55,000
, zi 10,000 %0

e smA BT A 9 3

(3) 45,000 %0 (4) 55,000 Ho
nterest. After two years,

% p.a. simple 1
borrowed by

29. A man took a loan from a bank at the rate of 10
»d, The principal amount

he had to pay Rs. 2,500 interest only for the peric
him was :

(1) Rs. 10,500 (2) Rs. 11,000
uF A=Al 7 v &% A AErrer Ara 97 10
a4 a3 39 FAg & e Faa 2500 Ho H AATA FEREAT 95T

3ar7 @ wE ger wfa 4
(1) 10,500 5o (2) 11,000 o (3) 12,500 o (4) 13.000 %0

(3) Rs. 12,500 (4) Rs. 13,000
v, ufe ad #1 =7 A H7 fopzar | )

sy, aldl

wnthly income ol

30. The average monthly income of A and B is Rs. 4,000, The average o
The

B and C is Rs. 7,250 and the average monthly income of A and C is Rs. 5.200.

monthly income of A is :
(1) Rs. 1,950 (2) Rs. 1,850 (3) Rs. 1,750 (4) Rs. 2,150

A #7 B % Ama afaE Am 4,000 Fo BB M7 C #) A witas w4

7250%0 & A7 A 7 C #1 e afew Aa 5200 50 B A A afrer A v
(1) 1,950 Bo (2) 1,850 %o (3) 1,750 %o (4) 2.150 %0

31. Marginal revenue is the change in :
(1) Total revenue resulting from a one-unit change in cost

(2) Total revenue resulting from a onc-unit change in sales

(3) Average revenue resulting from a one-unit change in output

(§) Total cost resulting from a one-unit change in output

dmra ar ufrada 2o

(1) @ & oz g oftada % ofromrsaen ga ea

(2) faty & vz oftad= & oftoraEaEy gm T
(3)‘mﬁ%mm%m‘mvm
SRR A e RIS Sy htasnalinigy
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32. Long-period costs are those costs that :

(1) Can be adjusted in the long run to adapt to changes in production levels

(2) Remain fixed regardless of changes in production levels
(3) Are incurred only in the short run
(4) Are not relevant to the analysis of production costs

SR AFRE F AR § S

(1) ST &3 F uitads & orjge 8 & fow &8 T9g & guEha e

ST Gehar B

(2) SOET = # afRads & g fhe e Rex @
(3) Fad 9Ely ¥ T fpu o ¥
(4) T AN FH fasewer $ e g T8 2

33. Break-even point occurs, when :
(1) Total revenue equals total cost
(2) Total revenue outstrips total cost
(3) Total cost surpasses total revenue
(4) The firm is operating at a loss
T9-fa=8= fig 99 @ B, 5+ -
(1) T T FHA AT B TG B
(2) A TG HA ARG F AfYF 2
(3) e WFTd He T § Afw B
4) &5 =12 ¥ g9 @2

34. The modern theory of costs emphasizes the importance of :
(1) Technological advancements in reducing production costs
(2) Government regulations on cost management
(3) Reserve capacity
(4) Social and environmental costs
AR 1 AT Haia Fas ge™ 97 oo 3a1 & ?
(1) ITET AV B FH HA T T T
(2) APTT FEEE 97 T Ham
(3) AfEE erHar
(4) TS T gaigeeia e

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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ofit by producing at the level

35. In the short run, a monopoly firm maximizes is pr
where :
(1) Marginal cost equals marginal revenue
(2) Average total cost is at its minimum point
(3) Price equals marginal cost
(4) Price exceeds average total cost
ITEUHTT o, TH THINEHA HH 3H ' W FqUEH L U e a) ot
(1) i T i o @ qaEy ed @
(2) olEd HE A o Rper g aw @
(B)ﬁqﬂmﬁw%wa’m%
() B ola gu @rTa & ot B

36. Which model gives stable solution ?
(1) Cournot's model
(2) Bertrand's model
(3) Both
(4) None
H-ar ded ReT wNE A @ 7
(1) ®EA H1 HIsH
(2) FgUs H1 HISA
(3) a=t
@) B¢ TE

37. Price rigidity in oligopoly refers to :
(1) The inability of firms to change their prices frequently
(2) The fixed prices set by the government
(3) The collusion among businesses to keep prices at a constant level
(4) The price refinement practices in oligopolistic markets
STeaEp & o9 HeRar & arad ¥ ¢
(1) BHt & AT HHAT H TR TG F - ST
(2) FR g FaiRa =
(3) FrTt B e WX WX @A & T aadt & g fosisee
(4) STEaIsry St A HeF MU we

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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38.

39.

11

The Coase theorem suggests that :

(1) Market participants can negotiate and reach efficient outcomes in the presence of
externalities

(2) Government interference is always necessary to address market failures
(3) Monopolies are inherently efficient but still should be abolished
(4) Transaction costs are the primary cause of market failures

FIE TG § qar g ¥ o

(1) a9 @ewrfl s &7 @ha & 3 amarst &1 gufafa & g
afoTHT 96 ugw wwa #

(2);?;1?%31% fadpeanstt @ g7 F & fou gl @AY BAWT HEvEH

(3) THIPR @Wfas &9 § Hyw & AfpT BT off 38§ s w7 Rar s
=rey

(4) AT H AT AR D fAmeredt H wrafye Hweer @

The modern theory of rent suggests that rent is determined by :
(1) The scarcity of a factor in relation to its demand

(2) The negotiating power of factor owners

(3) The price elasticity of demand for the land

(4) The government's land-use policies

e H Iy faeia genar @ & e Faifia g @
(1) 3T 7T & a9 F T HH H HA 4

(2) FE Aferant & g #H afte 4

(3) 9fer @ =T #H HET A" 8

(4) gTHT H 9fH Igge feat |

Theories of interest include :

(1) Classical theory and Keynesian theory

(2) Loanable funds theory and liquidity preference theory
(3) Fisher's theory and Marxian theory

(4) Nominal interest and real interest theory

=1 & faeiat & mfe 8 -

(1) smeia e i FAfeas faeia

(2) Fo1 arg fAfy faeia o avaan afan feia
(3) et &1 Raweia ofir ArfpEas fasaia

(4) AT F AW R ardfas e & s

PG-EE-June, 2023/(Economics)(SET-X)/(D) P.T. 0



. 'S and MPPC
41, 11 the value of multiplier 1s 4, what will be the value of MPS ind

(D) 25 and .75 (2) .25 and .23
(M 75 and 25 (4) .75 and .75
afX qoren @r W 4 B @ MPS ofre MPC E T A A
(1 25 afr 75 (2) 25 ol 25
(3) .75 afw 28 (4) .75 o 75

42. A rightward shift of the 18 curve in the IS-IM model indicates

(1) An increase in government spending (2) An ncrease i ases

(3) An increase in the money supply (4) An increase inmterest rates
IS-IM Htee A 1S g @il o feaaen quion @

(1) TXwr we 7 ghe (2) w1 gis

(3) o oyt A gl (4) @t &4 " gia

43. Hicks model of trade cycle is based on

(1) Multiplier (2) Accelerator

(3) Harrod Growth (4) All of the above
aare e o e Htew amanfa R

(1) T X (2) @& g

(3) ¥q® Wy U (4) I g

44. The Harrod-Domar growth model suggests that economic growth is dependent on
(1) The rate of investment and the capital-output ratio
(2) Innovations
(3) Changes in education levels
(4) Government regulations
BQw-dT Amra dtee goren ¥ % onfde e e aw fasge B
(1) Frer @ & o yof-geares swar
(2) “arany
(3) fan & w A afady
(4 "l gy

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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45. The exchange rate regime in which the central bank allows the exchange rate to
fluctuate within a specified range is called :

(1) Managed float _ (2) Pegged rate of exchange
(3) Fixed rate of exchange (4) Crawling peg

R X e Rl 389 8 g < 5 o Bite g9 § et
SA-ESTT Pl FFHT T B, HeT orar 2

(1) vSiya wire (2) fafvma & erier o2 =%
(3) fafvmg =i Ffyea = (4) foadt Fie

46. A trade surplus occurs, when : ,
(1) A country's imports surpass its exports
(2) A country's exports are more than its imports
(3) The balance of trade is zero
(4) There is no international trade at all
AR A T e 8, 59 -
(1) &t 21 =1 oA SO Fafa S e aer
(2) 4l 391 F1r M SO s @ ot e 2
(3) MR AT A B
(4) ®E R AR T8 2

47. Purchasing power parity (PPP) theory suggests that exchange rates between countries
should be based on :

(1) Relative levels of inflation
(2) Absolute levels of income
(3) Comparative advantage in production

(4) Relative interest rates

w4 s FF (fidY) Raesia aamr ® 6 390 3 d9 Rftem e B @
e el anfau -

(1) gaTEpifr & |ey «@3
(2) A= F gt w@X
(3) SUEA H JA-THS A
(4) |8t =T g%

PG-EE-June, 2023/(Economics)(SET-X)/(D) P.T.O.
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48. The Laffer curve illustrates the relationship between :
(1) Government spending and economic growth
(2) Tax rates and tax revenue
(3) Income inequality and tax
(4) Tax and public goods
AHT @k T B e gey g @
(1) S @9 AR onfiew famra
(2) HX H X A HT [TEE
(3) 3TF IrEEAT AT B
(4) & IR FESIH qHH

49. The concept of deadweight loss is associated with :
(1) Government subsidies
(2) Tax evasion
(3) Public debt
(4) None of above
=T &G B IFURET HEEAT B
(1) 9 a8
(2) H A4 4
(3) EdSI® RO H
(4) STAH * | HF TS

50. Horizontal equity in taxation refers to :
(1) Taxing individuals not based on their ability to pay
(2) Treating individuals with different income levels in a similar manner
(3) Treating individuals with similar income levels equally
(4) Taxing individuals based on their consumption behaviors
FHaaw # afos sfFad de2fifa wa B
(1) =aRRFl ¢ I PIAN HA Bl AT B SR U BT 7 ST
(2) = o w4 a9 AR d 99 99 Hg9er ST
(3) F9F 3T WX I ARGAT & T THE e BT
(4) ARPAT 9T I IUANT FEBR B AU YT HT T

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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51. The Economic Survey of India is prepared by :
(1) The Ministry of Finance
(2) The Reserve Bank of India
(3) The Planning Commission (now replaced by NITI Aayog)
(4) All of the above
WIRA & i qderor fhad & &y fRar sen ® 7
(1) fo=r H5=era
(2) Wi Red 36
(3) AT FEART (31 Ay srErT & gferenta)
(4) ITA<H g

52. The Indian economy has witnessed a shift from :
(1) Agriculture to industry and services
(2) Import substitution to export-oriented growth
(3) Command economy to market-oriented reforms
(4) All of the above
wd oreferaer ¥ Faed @ T 8
(1) H & I A |qAd
(2) amara wfeE & Fafa-ssa e
(3) FHTvS IEfeaw @ AERNE u
(4) IUAH G

53. The role of the public sector in the Indian economy includes :
(1) Providing Infrastructure for rich people
(2) Provision of non-essential services
(3) Promoting equitable growth and social welfare
(4) All of the above
A arferaen ¥ ArdstIs & @ gt § it ¥
(1) e @it & fora gfeardl arar ware ST
(2) A-omasaE [GrAT H A@EH
(3) @9 R o arifsts dearer & Fgrar A
(4) IUAH A

PG-EE-June, 2023/(Economics)(SET-X)/(D) P.T.O.



16

54.

55.

56.

57.

Economic reforms in India have focused on ¢

(1) Liberalization, privatization and globalization

(2) Promoting foreign interference

(3) Enhancing in efliciency

(4) None of the above
Wﬂ,aﬁmwﬁﬁﬁﬁwm%ﬁaﬁmﬂm%‘
(1) Farfepor, fFofmror o agdiwo

(2) faReh ewdg @ "aEr a0

(3) zeren # gf=

(4) I<E ® A wg T

Economic planning in India was characterized by

(1) Five-year plans (2) Centralized taxation
(3) Wastage of resources (4) All of the above
qra & onfefe e @ e =

(1) daadim DAY (2) BETFA HITHETA

(3) EEHAT H T (4) 39AH T

The Gini coefficient is a measure ol :

(1) Income inequality (2) Population growth rate
(3) Literacy rate (4) Poverty rate

Pt [oTieh e W9 R

(1) 3Q ITHATAAT (2) sEEn gfe 2v &
(3) @EEar & &l (4) e 7T @

The concept of the "Population Pyramid" is used 1o study -
(1) Age-sex composition of the population

(2) Fertility and montality rates

(3) Migration patterns

(4) All of the above

SrEE fafe’ @ sEureen &1 949 e & stsgas & feo faan

(1) FEeE & JAg-fon Jaa
(2) o= e 3T g =
(3) warE= e

(4) IUH W

PG-EE-June, 2023/(Economics(SET-X)/(D)

e



D ) 17

58. The concept of "Human Development Index (HDI)" takes into account indicators such

as :
(1) Life expectancy (2) Education attainment

(3) Per capita income (4) All of the above

“HAA [ gEebis (HDI)” & sraaren fpst 39 @@t @ e ) ®
(1) STE= gegrem (2) farem wiftg

(3) af =fRp e (4) ST |Al

59. The Deendayal Antyodaya Yojana-National Urban Livelihoods Mission (DAY-
NULM) aims to alleviate poverty by focusing on :

(1) Rural employment generation
(2) Skill development in urban areas
(3) Housing for the homeless

(4) Women empowerment in rural areas

AT ST AT el AShfE e (Suar-oeguee) &
Seeg Fr=feifad . aam 3T &3 TS @ 59 e D

(1) TTHoT JSFMT oA

(2) e &= 7 e A

(3) Rt & g sTEE

(4) Tror AT 7 Afger gufesIor

60. The Pradhan Mantri Mudra Yojana (PMMY) provides financial assistance to :

(1) Micro, small and medium enterprises (MSMEs5)
(2) Farmers for agricultural development
(3) Students for higher education
(4) Individuals for affordable housing
agEET g2 AT (PMMY) 1 @ s gerger sem s @
(1) ges1, Brer 3R et se (cqoaeqd)
(2) PN e & g FaE
(3) I== farem & fow =
(4) Frmracht smara & e afe

PG-EE-June, 2023/(Economics)(SET-X)/(D) | ot ¥
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61. Rcal income 1s
(1) The total income earned by a household in a specific period
(2) The income adjusted for inflation to reflect changes in purchasing power
(3) The income after deducting taxes and other deductions
(4) The income derived from investments and financial assets
greatas 379 ® -
(1) o fafirse omafy & o afa g FRfa A 3TE
(2) Fa s & oRadw @ auit & fe gEeEnfy & e FEET S
(3) T IR 9 FARG B FeA B G B I
(4) PR M7 fo<hg duf | o 3™

62. Limitations of the GDP concept include all except :
(1) Exclusion of non-market production
(2) Failure to account for income distribution among different groups
(3) Neglecting environmental and social costs
(4) Income of households and firms
mmmﬂmaﬁ@mﬁﬁﬁw%mﬂmmﬂmﬁm%:
(1) AT-TT IAEA . SEEHIT
(2) faftr= TE 3 S9 oM R & i @ J e
(3) watarer T G AFTT Sl IR HIAT
(4) Tt T wF B FJF

63. The expenditure approach to measuring national income focuses on :
(1) Summing up the value-added at each stage of production

(2) Adding up all the spending by households, firms, government and net exports
(3) Calculating the total income earned by individuals

(4) Estimating the value of all final goods and services produced in the economy
T FE AR # e o gt e w e B2

(1) 3QEE & &% 970 § S T g5 F g9y

(2) ufard, &b, ST & ' @E H AeAr A1 g P

(3) =fsrat ara FE HF AT B TOEAT F

(4) sforaen ¥ IR @ i awgelt ol {amedt
T F I HwFGHE

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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64. The marginal propensity to save (MPS) is defined as :
(1) The change in saving divided by the change in disposable income
(2) The change in investment divided by the change in national income
(3) The change in savings divided by the change in aggregate expenditure
(4) The change in savings divided by the change in investments
e ==d-agRy (MPS) & oy wg & qftwnfye fear mn ®
(1) s=a & qRadw/aacy emg & oftads
(2) M # oftedqAasTg o & afeds
(3) s= ¥ Radw/gw =a & o
(4) s=q & aREd=/fAEe § aitads

65. Potential GDP represents :

(1) The level of output an economy can produce in the short run

(2) The maximum level of output an economy can produce in the long run

(3) The total value of investment expenditure in an economy

(4) The maximum level of government spending in an economy

Heifa GDP &91iaT ® ¢

(1) SAEA HI T T AFHgE JIqEy § I HT gGHhal &

(2) STEA FH ATHTH X TP T T 999 § I@ET HT Thal &
(3) Fordt srefemgwn # FAw =7 & F& T

(4) et ol # dXH @9 & Afuswad @Y

66. The impact of an increase in taxes on equilibrium GDP is :
(1) It increases equilibrium GDP
(2) It decreases equilibrium GDP
(3) It has no impact on equilibrium GDP
(4) It depends on other factors
H H ghe & dged dHhd gy IdE 9X SHE @
(1) g8 Eged SISt & Jer
(2) T& G STt & HH HIAT 8
(3) Hge St 9T THH P gAE TE ©
(4) T8 9 HLH g AT FHar B

PG-EE-June, 2023/(Economics)(SET-X)/(D) PrLAL
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67. The net export function is influenced by :
(1) Exchange rates and domestic income
(2) Tax rates and government expenditure
(3) Interest rates and savings rate
(4) Inflation rate and investment
= was g ear ®
(1) faffma X ) g ™ &
(2) HT FH X AR THA &= &
(3) ST &Y IR =g & &
(4) FETERIf & A A ara

68. The Phillips curve depicts the relationship between :
(1) Government expenditure and fiscal deficit
(2) Inflation and interest rates
(3) Inflation and unemployment
(4) Investment and economic growth

Waﬁﬁﬂ%aﬁﬂﬂﬁuﬁﬁm%:

(4) Fragr IR oTRiE AT

69. In the long run, changes in the money supply primarily affect :
(1) The price level and inflation rate
(2) Government expenditure

(3) Interest rates and investment levels

(4) Output levels
Wﬁ,gﬁfaﬂﬁﬁwﬁaﬁﬂmwﬁwﬁam%:

(1)@@?@1@3@%?@
(2) G @
(3)WﬁaﬂTﬁﬁmwaﬁ

(4) aTSege T B

PG-EE-June, 2023/(Economics)(SET-X)/(D)
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7L

72.

73.

PG-EE-June, 2023/(Economics)(SET-X)/(D)

Which out of following is qualitative money control tool of central bank ?

(1) Open market operations (2) Bank rate

(3) Reserve requirements (4) Repo
ﬁtﬁﬁf@ﬂﬁﬁﬁﬁ-w%ﬁu%mmwﬁdaﬂw%?
(1) G e Harad (2) dF X

(3) o aTTaeTehdd (4)

Underdeveloped Countries are characterized by :

(1) High income levels and cutting-edge infrastructure

(2) High levels of foreign investment and trade

(3) Balanced economic development and cqual income distribution
(4) Low income levels and limited industrialization

Stfereper 27 @ RAdwer el B

(1) 3=a o @ AR srenyfe g e

(2) foReh MAer X AR H I=F WX

(3) wgfera ol fepr ok 9 ™ ferzoT

4) Frt o W) 3R | SR

Economic development involves :

(1) The increase in per capita income only

(2) The improvement in social indicators and well-being

(3) The creation of democratic institutions

(4) The embracing of free trade policies

ST frepre & emfEe @

(1) Faer afq =fe oE 7 ghs (2) |mISTER Hhaem 3l waE F guK
(3) eptitees deared &1 e (4) H¥H AT FET Y YT

The vicious circle of poverty refers to :

(1) The spread of poverty due to low educational levels

(2) The intergenerational diffusion of poverty

(3) The cycle of low income leading to low savings and investment
(4) The lack of access to credit and financial services for the poor
T T geAsh HaHT HIAT ©
(1)WWW%WW%W®

(2) TR FHT SFASTHIET THR B
(3)mmwamwaaﬁaﬁ7ﬁaﬁTaﬁaﬂT@fmﬁaﬁ
(4) TS B Q. For A R Aarolt aw wET B FA B

| ot o
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74.

75.

76.

Structural transformation mainly refers to : |

(1) The shift from agriculture to industry as the only main driver of economic growth
(2) The process of urbanization

(3) The diversification of the economy and the development of new sectors

(4) The adoption of globalization

TS aRade e w9 § HEi B o

(1) o7 fahre & wpA qeg oa® & ©9 F Py § FEE F aEaET

(2) IEd=IoT S Afshan

(3) ordfemae @ fafaefientor ofw wq &=t Hr fawE

(4) ALAHTOT B AT

The poverty trap refers to :

(1) The inability of the poor to escape poverty due to limited opportunities
(2) The cyclical nature of poverty in developed countries

(3) The concentration of wealth in the hands of a few individuals

(4) The effect of inflation on the purchasing power of the poor

T ST | ared B

(1) AT SEE & HROT TAS & TN F g97 T srEEegar

(2) foepfT 39 & T B == vy

(3) ®B ARKAT b BT F g7 FHT BB

(4) TS & FHT ARG U GEEHRT H T

Balanced growth theory suggests that economic development should focus on :
(1) Focusing resources in a few sectors only

(2) Diversifying the economy across multiple sectors simultaneously
(3) Prioritizing agriculture over industrial development
(4) Relying on FDI for economic growth

ﬁjqﬁgiﬁ-@aw%ﬁswﬁhﬁﬁzﬁmﬁﬁwww%ﬁﬁm

(1) Serestt B Fae A A B ey
(2) Th A Fx & A sreferaeen B Rfyeeor
(3)@ﬁﬁmﬁwvw5ﬁaﬁmwém
(MW@%B%W%WW@%U*{W@W

PG-EE-June, 2023/(Economics)(SET—X)/(D)
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77.  As per the Lewis' model, the "informal sector" refers to :
(1) Industries which are not regulated by the government
(2) The rural activities
(3) Small-scale enterprises and self-employment
(4) Technologically advanced industries with high capital intensity
M Aew B oHER, ‘orlais S B o B -
(1) SET S R&R g R T8 8
(2) Iror ittt
(3) B WM & IEw IR WA
(4) I=a goNl Figar & 9y aE @Y Q4 S SEnT

78. According to Leibenstein, the critical minimum effort required for economic
development :

(1) Varies across different sectors and countries

(2) Can be achieved through foreign financial assistance only

(3) Requires high levels of government intervention

(4) Depends on the disposal of natural resources and raw materials
@W%W,WW%WW@EWWW:
(1) faf=1 &=t ofiX 29T & = &ar 8

(2) Haw RN < gemar & qrew @ ara e s g @

(3) I=T WX & GIHNR] SEET &H FAELTHAT &

(4) ST EETEAT 3N FHEA 7 B fFded wx iR war @

79. The concept of "strategic sectors" in unbalanced growth theory refers to :
(1) Sectors that have a comparative advantage in international trade
(2) Industries crucial for national security and defense
(3) Sectors with high potential for technological innovation
(4) The prioritization of specific sectors for government support and investment
segfae e fasia & oTfas &= @ sgeRen g1 #eed ®
(1) ¥F a7 BEew FAaUET AUR H JaTEh a2
(2) asfrm graw o) wn B [ SE weEyet @
(3) TN FarET & [T 3= AT a8
(4) I erEmar X Fasr & fou fafdre &= 6 urafaesan

PG-EE-June, 2023/(Economics)(SET-X)/(D) By T, O
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80. According to the critical minimum effort thesis, economic development requirces :
(1) Investment in physical capital and infrastructure

(2) Adequate levels of government expenditure and public services

(3) Efforts to improve human capital and education
(4) All of the above

TEEYEl IAAH qaTE A B wgEr, ofeE famr # sEegdar €
(1) T gt ofR giamd =i & far

(2) TR G AR Groie Aarsit &1 gatg ©@7

(3) 7Fa ol AR Rren § gur & waw

(4) IUU<e gf

81. If'EVERYTHING' is coded as 'GHENGRIVET", then how will you code "TREF' ?
(1) RGNE (2) ENGR (3) NEGR (4) RNGE
aft 'EVERYTHING' #' 'GHENGRIVET' & ®u ¥ @ifeq far omem 8, av oy
'TREE' &I #8 He H 7

(1) RGNE (2) ENGR (3) NEGR (4) RNGE

82. In a given number 7943325913, we interchange the first and the second digits, the third
and the fourth digit and so on. Then which digit will be sixth from the right ?

(1) 2 (2) 3 (3) 4 4 9

TH TR AT 7943325913 H w9 wew oM gER Ik B AUH F awe 33 F
E AT Arer i AR FH e TN | D PE-|1 ofF I QA w1 A 2

(1) 2 (2) 3 (3) 4 4) 9

83. If'BORROW'is coded as 589134. then how-will you code 'BROW ?
(1) 5934 (2) 5493 (3) 4395 (4) 4935
ai% 'BORROW' &1 589134 & &4 § Hfeq fear smm B, @ ey BROW' o
Y P HOT ?
(1) 5934 (2) 5493 (3) 4395 (4) 4935

84. If'DSNI9E' stands for 'DENSE and 'D1F20' stands fi 'DAFT' ' will vou code
DECENT" ? § for » then how will you code

(1) DC5N205 (2) D20C5N5 (3) D5C5N20 (4) DS5C20N
ik 'DSNI9E' @1 318 'DENSE' afrx 'DIF20' =1 a1t 'DAFT

2 F .
'DECENT' & $Q Hifea w8 ? s
(1) DC5N205 (2) D20C5NS

(3) DSCSN20 (4) D55C20N
PG-EE-June, 2023/(Economics)(SET-X)/(D)
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Choose the pair in which the words are differently related :
(1) MUSIC : ART (2) PEPPER : SALT

(3) FROWN : SMILE (4) MAN : CROWD
WTW@WSWW?W%W%:

(1) ¥ha : ey (2) Hreh B 99

() M TgmT - g (4) T : e

Choose the gr oup of letters that is different from others :

(1) MLK (2) KJI (3) RQP (4) TSR
TR HT qE YR T N avg A R 3 -

(I) MLK (2) KJI (3) RQP (4) TSR

Find the value of Question Mark (?7) :
9= BT () o5 ERIEE

:30::25:9

(1) 46 (2) 78 (3) 42 (4) 75

A and B are brothers. C and D are sisters. A's son is D's brother. How is B related toC?
(1) Uncle (2) Grandfather

(3) Father (4) None of the above

AaﬁTBm%%lcaﬁtoaﬁ%ﬂA?mgerwmé%lB,cﬁﬁmw
Hafaa 2 7

(1) gr=n (2) =m=T

(3) faer (4) 39T F q 7 T8

Paras walked 30 m towards east. took a left turn, and walked 20 m. He took a right turn
and walked 30 m. Then, he took right turn and stopped. He is now facing ?

(1) North (2) East (3) South (4) West
mgéaerahrmtﬁwaar,aﬁgaaﬂrzolﬁawnagmﬁgaeﬂr
3Oxﬁzraw:ﬁ7(,agaﬁgaaﬂrwwmgmwg@%?

(1) I9T (2) 3o (3) =feror (4) qfeam

The price of a commodity increases first by 30% and then decrease by 20%. What is
the net increase in the price ?

(1) 14% (2) 10%

(3) 4% (4) None of the above

fepell awg #t Faa 9Bd 30% Fodl B o fRT 20% we owh ¥ ouew F g
gfe Fm 8 7

(1) 14% (2) 10%

(3) 4% (4) 3706 # | g 7E

PG-EE-June, 2023/(Economics)(SET-X)/(D) P.T.O.
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1.

92.

93.

When the Cross elasticity of demand is zero, the goods are :

(1) Substitutes (2) Perfect Substitutes
(3) Not related (4) Complementary
s A B o A g A B @ awgd A ¥

Why IR (2) ot e

(3) wem ) T

Microeconomics primarily focuses on :

(1) The behavior of individual firms and industries
(2) The overall performance of the economy

(3) Government policies and regulations

(4) International trade and finance

TeEeEy gEF T9 § R 9X HEA B g7
(1) =fRemE Hat 3R IAFT H FIREK

(2) SreierEEsT & A qEEH

(3) TR & it T FE

(4) S AR AR |

Cardinal utility analysis suggests that :

(1) Utility can be measured and quantified numerically

(2) Utility is subjective and cannot be measured objectively

(3) Utility is determined solely by a consumer's income level

(4) Utility is not relevant in understanding consumer behavior

e TR AT § oA =wa § [
(l)mﬁmﬁmmﬁwaﬁ?qﬁmﬁﬁﬁﬁmmm%
(Z)mﬁﬁmm%aﬁt@mm%ﬂﬁwwm%
(3)3qaﬁm%aamﬁr%mmaﬁm?ﬁaa—cﬁ%
(4)mﬁ!ﬂmﬂaﬁrawﬁﬁmmﬁréﬁasa%ﬁ%

PG-EE-June, 2023/(Economics)(SET-X)l(D)



94.

95.
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If marginal wiility of money is diminishing instead of constant the amount of consumer
surplus wil] :

(1) Increase (2) Decrease

(3) Remain same (4) Cannot be predicted

AL = Sl IwRET fer A @ v ge @ g, @ e e
RUN

(1) seh (2) g

(3) §99 = (4) wAferszraroft =&t @ T TRl

Consumer equilibrium occurs, when :

(1) Marginal utility is negative for all goods consumed

(2) Total utility is maximized given the consumer's budget constraint
(3) Marginal utility is equal for all goods consumed

(4) Total utility is equal to zero

SUARHI HIAH 99 B B, 99 ¢

(1) ITErT & 73 T gEgA & g dwid ST F=ones 2
(2) STHRHT & FoTe H FH B @S gL FA ITANT AR B
(3) IgEFT F T A g H o dEia Ig@far g9 2

(4) T ITATET A B AL B

Marginal rate of substitution of two perfect substitute goods will be :
(1) Diminishing

(2) Increasing

(3) Constant

(4) Initially increasing and later decreasing

gy gof TETeT FEGS F SRR HOHHE T
(1) %d Bl
(2) @M

(3) feee @
(4)Wﬁa%7ﬁaﬁ?aﬁﬁa%1ﬁ

3/(Economics)(SET-X)/(D) P.T. O.
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97. The budget line represents :

(1) All possible combinations of goods a consumer can afford given their income and
the prices of the goods

(2) The trade-offs a consumer makes between leisure and work

(3) The relationship between price and quantity supplied for a specific goods

(4) The total income a consumer has after purchasing all desired goods and scrvices

qoTe T@T &90Hl B

() 7/ & | A a@ded o T ST9Rhl ST HAF A 7 F FHHEAT
& g8 HY Fhll &

(2) U IUSRRT giaer ol &m 3 = SR BT ©

(3) Freh Rafdree avg & forw omrgfel &1 T T AR AET & ATE HEE

(4) @i it aegatt ofk Qareli 1 @ley & a@ UH ITHHI B HA A

98. Movements along the supply curve occur due to changes in :
(1) Preferences of consumers (2) Consumer's income and tastes
(3) Price of the goods being supplied ~ (4) Government policies
ofef a6 9 Feww e # oftads & @rer e ®
(1) SYARBISAT & orerfresang (2) SYARAT H 3T JT BT
(3) oIYfet 1 ST W& ARG Bl AT (4) FIHRX BT AT

99. External economies of scale refer to :
(1) Cost savings from the growth and expansion of an individual firm
(2) Cost savings from the availability of cheap raw materials
(3) Cost savings from technological advancements in the production process
(4) Cost savings from the cooperation and coordination among firms in an industry

T @ gl Haafiar 9iHa w © o

(1) =Rea w1 & e iR fawr | arma s=a

(2) G Hed AIG Hl IqET H AR T

(3) Ieare ufshar # T W | AR F9d

(4) TH IENT # Al & &G @B IR g § AFG a9

100. The law of variable proportions shows :

(1) Long run production function (2) Short run production function
(3) Short run cost function (4) Long run cost function
afRadt STuTdt &1 e gster ®

(1) BRI IeqET Herd (2) HAUEY IAET B

(3) STEIETY ST heret (4) EHFAT TS B
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